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Two small spherical metal balls, having equal
masses, are made from materials of densities
p; and Py (Pl = 8p2) and have radii of

1 mm and 2 mm, respectively, They are made
to fall vertically (from rest) in a viscous
medium whose coefficient of viscosity equals

N and whose density is 0.1p, . The ratio of
their terminal velocities would be,

39 79
) 7 @ 36
79 19
3) 7 “) 36

*
A particle starting from rest, moves in a circle
of radius '#'. It attains a velocity of ¥y m/s
iri' the nt? round. Its angular acceleration will
be,

2
y
(1) 0 5 rad/sz
dnr

73

drnr

rad/ s2

@)

Yo 2
— rad/
@) - rad/s
2
Yo 2
rad/s
) 2‘11:nr2

A person standing on the floor of an elevator
drops a coin. The coin reaches the floor in

time # if the elevator is at rest and in time

ty if the elevator is moving uniformly. Then

M) 4>t

@ 4=n

(3) <ty or # >ty depending upon
whether the lift is going up or down

) n<n
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A truck is stationary and has a bob suspended

by a light string, in a frame attached to the

truck. The truck, suddenly moves to the right

with an acceleration of a. The pendulum

will tilt

(1) to the left and angle of inclination of
the pendulum with the vertical is

sin | —
g

(2) to the left and angle of inclination of
the pendulum with the vertical is

tan_1 [5)
a

(3) to the left and angle of inclination of
the pendulum with the vertical is

sinT ! (-’g-]
a

(4) tothe'left and angle of inclination of
the pendulum with the vertical is

-1z

Two metal spheres, one of radius R and the
other of radius 2R respectively have the same
surface charge density ¢ . They are brought
in contact and separated. What will be the
new surface charge densities on them ?

) © ——50' Y ——50
DN 2 73
2) © ——50 c —50'
@ < 37 276
3) © ——50 o —50'
S 6 279

40_20' 0'_20'
4 1=56 2%
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e feg g ¥ | 79 9% @ S wwar € 6 -
(1) <27 @ t'=2T"

@) t'=N27T" @ ¢>2T

800 Hz omgfa @1 %13 @i faye foaedr srgeme
Fferept et wudt R e i freen R s
& U G0 T §, # TG S0 Bl & | HHr
STET 1 99T 9.75 em, 31.25 cm 3T 52.75
cm wrTEal WX fFm T ¥ A § | g
¥

(1) 344 m/s ) 172 mfs
(3) 500 m/s s(& 4) A56-m/s
¥

i 2&&@5?—127&} & ag ¥ e B
Q

fius e & |l H, e weE @ g
1:5 .22 Srar ¥ 1 R BTET 9ET AT

(100?+35/j\‘+8@)@r@m% | 9% ST 61 9T
'@"Tl —

N A AN
1) 207+15)-80%k

A Fay FAN
@) —207-157-80%
(3) 47+237-16%

@) -1007-357-8%
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The distance covered by a particle undergoing
SHM in one time period is (amplitude = 4),
(1 24 2) 44

3) zero 4 4

A mass falls from a height '’ and its time of
fall 't' is recorded in terms of time period T
of a simple pendulum. On the surface of earth
it is found that r = 27. The entire set up is
taken on the surface of another planet whose
mass is half of that of earth and radius the
same. Same experiment is repeated and
corresponding times noted as t' and 7",
Then we can say

(1) ' <2T" @) t'=2T"'

(@) =27 @) 2T

A, tuning fork with frequency 800 Hz
produces resonance in a resonance column
tube with upper end open and lower end
closed by water surface. Successive
resonances are observed at lengths 9.75 cm,
31.25 cm and 52.75 cm. The speed of sound
in air is,

(1) 344 m/s 2) 172 m/s

(3) 500 m/s 4) 156 m/s

An object flying in air with velocity
{20/1'\+ 25?—122] suddenly breaks into

two pieces whose masses are in the ratio 1:5.
The smaller mass flies off with a velocity

[100/1'\+35?+ 8/]2} The velocity of the
larger piece will be,
A A N
(1) 20i+15,-80%
N A A
(2) -20i-15,-80k
A A A
(3) 4i+23j-16k
A A A
4 -100i-35;-8k
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(1) 2k LC (2) 4 LCR
(3) 9 LR (4) 49 RC
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w=aa &, 10 rad/s % Frm w3 9 it
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g\
@) 432x108 mis (§’
N
(3) 2.5x%10% nvs @$
@ 3x10% mss

Rl T ¥ +3%1070C skt = B fw

faya smes ¥ 1 59 A § Freem oo ga faga
A fpar ¥ 7

(1) 3x107% Nm¥cC
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~3x107% Nm¥cC

I

@)
4

Hindi+English ]

Download all NOTES and PAPERS at StudentSuvidha.com

10

11

12

13

A circuit when connected to an AC source of
12 V gives a current of 0.2 A. The same
circuit when connected to a DC source of
12 V, gives a current of 0.4 A. The circuit is

(1) series LC (2) series LCR

(3) series LR (4) series RC

A cycle wheel of radius 0.5 m is rotated with
constant angular velocity of 10 rad/s in a
region of magnetic field of 0.1 T which is
perpendicular to the plane of the wheel. The
EMF generated between its céntre and the
rim is,

(1 05V
3) 025V

(2) " zero
4) 0125V

For a «transparent medium, relative

permeability, and permittivity, |, and €,

are 1.0 and 1.44 respectively. The velocity of
light+in this medium would be,

(1) 2.08x10% m/s

) 4.32x10% m/s

(3) 2.5x10% m/s

4 3x10% mvs

A sphere encloses an electric dipole with

charges +3x1070C. What is the total

electric flux across the sphere ?

(1) 3x10~% Nm2/C

@) 6x1070 Nm?/C

(3) —3x107% Nm¥C

@

Zero
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qituy ¥ qeiY SIER 99 el % & geed
guifa C) st C, wditvg € | g ares &
Varee @l del & SuEm we guiie C) &l

ol ko 2Rl @ of b § G ®te mafi
forar mar | o9 g AT b B Rt we <fiEe
b 3R ¢ B SR fFaT T ¥ | 3H% RO el
&1 wfas s Reeen s ?

k
a ¢
1°
V o — —
o Ce
1) 50 % Q) 25 %
3) 75 % @ 0%
S

W$ﬁ1'¢ﬁ¢§‘ﬂ 0.51A4 &.ae gaa e

ameng \—13.6 evs B\ afy Trgge Ty o
B wpeiT (u‘) [Tt ST S &
SR &, SUTT G2 5= 207 m,, ] & wierentia
&L, Gl el SEC B qur e srawn St
i

() 2.56x10783m, -2.8keV
@) 2.56x107Bm, -13.6eV
(3) 0.53x1073m, -3.6eV
@ 256%x10783m, -2.8eV
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Two identical capacitors C; and Cy of equal
capacitance are connected as shown in the
circuit. Terminals a and b of the key k are
connected to charge capacitor C| using

battery of emf ¥ volt. Now disconnecting a
and b the terminals » and ¢ are connected.
Due to this, what will be the percentage loss
of energy ?

k
a C
"o b
My
c, Cy
1) 50 % ?) 25%
B 5% 4 0%

The radius of the first permitted Bohr orbit,
for the electron, in a hydrogen atom equals

0.51 /(1) and its ground state energy equals
—13.6 eV . If the electron in the hydrogen

atom is replaced by muon (p._) [charge same

as electron and mass 207 m,], the first Bohr
radius and ground state energy will be,

(1) 2.56x10"3m, —2.8keV
@) 2.56x107B3m, —13.6eV
(3) 0.53x1073m, —3.6eV

@ 256x1073m, -2.8eV
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T faf vt X ofit Y % faw wliee-fagfa
a6 @Y T ¥ | 9w daror fopar ur & fop werd X
¥ forg a7 v g i R g wo-g@t
% fre € uog qEt e Y % fow ¥ wwga
% BH T E 1

T OT HE §Hd ¢ 16 Ered X T Y e §
T § -

(1) R o wies

(2) wRes iR T

(3) @ 3R W

(4) T e T

ARE H WY AR fF ue # 9 o aw
HAM: AR ST qAT T SR WX ¥ | T @ S
AT A & Wl B SHargal HEe: 15 cm 37 20
cm ¥ | I B O § — [Py = 1000 kg/m3

W]

T
15 cm
l N

D

W A
(1) 1000 kg/m3 (2) 13 m3
(3) 1200 kg/m3  (4) 750 kg/m3

=

TR gAeA A % feEr CIBRICARSICICR
e w@ (a7@ = p, faidre. = gifar = s)
7 ¥, F By U@ & TS e g a6
g BT WRY T —26°C 3159 T F 96 B
T T & R & HeR X S

v6 B TSN TRl H AW K q9 T B
fafire 7 S L @ gu, 39 &or 96 @ uta &

e & ghe & T A -
(1) 26K/(pxL)
2) 26K/px(L+4s)

() 26K/[px(L-4s)
@ 26K/ (p+2)
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The stress-strain curves are drawn for two
different materials X and Y. It is observed
that the ultimate strength point and the
fracture point are close to each other for
material X but are far apart for material Y.
We can say that materials X and Y are likely
to be (respectively),

(1) brittle and plastic

(2) plastic and ductile

(3) ductile and brittle

(4) brittle and ductile

In a u-tube as shown in the fig. water and oil
are in the left side and right side of the tube
respectively. The heights fromrthe bottom for
water and oil columns are 15.cnirand 20 cm
respectively. The density of the oil is

[take P ygrer = 1000 kg/m3]

oil

water
() 1000 kg/m3  (2) 1333 kg/m3
(3) 1200 kg/m3  (4) 750 kg/m3

A deep rectangular pond of surface area A,
containing water (density=p, specific heat
capacity=s), is located in a region where the
outside air temperature is at a steady value
of —26°C. The thickness of the frozen ice
layer in this pond, at a certain instant is x.
Taking the thermal conductivity of ice as K,
and its specific latent heat of fusion as L, the
rate of increase of the thickness of ice layer,
at this instant, would be given by

(1) 26K/(pxL)
2) 26K[px(L+4s)
(3) 26K/px(L—4s)
4) 26K/ (psz)
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GaAsP @& S9RT #¢® A8l p-n @ sTs |
fiodt LED & &1 & T ¥ SOl e
1.9 eV ¥ | @il Wl & qoies B -

o]
(1) 6544
@ 654x107" 'm

(3) 104x10720m
4) 654 nm

TEf g9tar T ey o fhE wive 1T &
qagedr ¥ 7

+ 6V

R

A~ 0

1
.J;O__
! —3LED(Y)

R
= $
(1) OR g\\ (2). NAND
(3) NOR & (4) “AND

m%awmwﬁmﬂﬂ

AV F6, TEL-® UG ST BN SARITHT
Ho faer®) @ Y( %v)mmwmﬂ: [

25°C arg @ o fed R ww ¥ @ B
fvs 80°C § 70°C dw =1 € ¥ 12 Brie &1
T W ¥

7dl fms ® 70°C ¥ 60°C a% 31 89 & &N
T GHY BEW, T

() 20 fFe 2 15fm=
(3) 10 fre 4 12 e
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An LED is constructed from a p-n junction
diode using GaAsP. The energy gap is
1.9 eV. The wavelength of the light emitted
will be equal to

(1) 654 4
@) 654x107 1 m

(3) 104x107%0m
4) 654 nm

The circuit diagram shown here corresponds
to the logic gate,

+6V

R

A0
1

! —JLED(Y)

(1) OR (2) NAND
(3) NOR (4) AND

CP
The value of V| = C, | for hydrogen,

helium and another ideal diatomic gas X
(whose molecules are not rigid but have an
additional vibrational mode), are respectively
equal to,

577 757
O FFs @ FF5
7359 579
® 337 @3y

An object kept in a large room having air
temperature of 25°C takes 12 minutes to cool
from 80°C to 70°C.

The time taken to cool for the same object
from 70°C to 60°C would be nearly,

(1) 20 min (2) 15 min

(3) 10 min (4) 12 min

[ Contd...
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A T | TR W B W g W B

(n-1) wmt % W ¥ | w9 B @

SEYTH & —
1 1
1
3) (—n:-l—)(—n:ﬁ cm (4) ; cm

24 @13 =i RS o W ¥ T B 99 @
Tifyaa <t x Fram 3 vy & 73 @t § Tt
AT vy & T & g @ wT@ ¥ | o I v
¥ fo gsw ¥ -

A )
(1) EZ 3 2 VZJVI V2
1_ 1.1 2_ 1. 1
(3) vV ¥ V) (4) v Vi Vi

25 w7 §Y B o WX Redl Rivs @y
Rafes =t = BT &, m 5@ &
ﬁqwﬁasguz(ﬁwmam@%aaﬁ

SEa Rerfast St # TRaaT — anrfisa),
b )

) GMm

1) mgh ® =7
GMm GMmh
@ "rvrn @ RR+h)

26 mmwmgmsr-ﬁum(ﬁleOsPa)ww

AT 100°C 9T -1 cm3 omaae % 1 g S @) 9y
¥ ufafda fer mr & | 3@ "W @ o
1671 cm? ¥ | Ot w@ & O & fafdiee 9
T 2256 J/g %, <t ariafies sot d qiEeT -
(1) 16717 (2) 2256 )
(3) 2423 1] (4) 2089 J
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The main scale of a vernier callipers has n
divisions/cm. n divisions of the vernier scale

coincide with (n - 1) divisions of main scale.
The least count of the vernier callipers is,

1 1
1) — 2
@ n? - @ n(n+1) o
1
(3) —_(n+1)(n—1) cm (4) -r—l cm

A person travelling in a straight line moves
with a constant velocity vj.for certain

distance x' and with a constant wvelocity v,

for next equal distance. The average velocity
v is given by the relation

V| +Vvy
(1) 2 = b (2) v= 1{V] vy
JAant 2 10
(3) v Vl V2 (4) v Vl VZ

Assuming that the gravitational potential
energy of an object at infinity is zero, the
change in potential energy (final — initial) of
an object of mass m, when taken to a height

h from the surface of earth (of radius R), is
given by,

1) mgh o
R+4h
@) ~ria * R(R+h)

1 g of water, of volume 1 cm3 at 100°C, is
converted into steam at same temperature
under normal atmospheric pressure

(21)(105 Pa), The volume of steam

formed equals 1671 cm3. If the specific latent
heat of vaporisation of water is
2256 J/g, the change in internal energy is,
(1) 16717 (2) 2256171

(3) 24237 4 208917
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A =60004 % R srETET Riad & e
o @1 i Sl 0, ¥ 1 o @ Rl @

el o= TmaTll webrel § W fepar S ¥, b
U Ao 30% T W ¥ | 56 W &
qoeH T -

(1) 6000;4J 2) 4202
(3) 18004 4 42004
fenelt wepter guTET vtk @1 HEABEAT 4.0 €V ¥ |

T qerd @ B SEui BT BT b T TR
B Sy o & ()

(1) 31 nm (2) 310 nm

(3) 3100 nm (4) 966 nm

ol Wi ok Tl o — %W & foxm ¥ wm e
Tl e e haT T ¥ | ¥ Sre anest Ap
& Ay, FT ATIE E -

€)) V2:1

(3) 2:1

2) 41
) 14
N
e,w{-g 22@%%%%@%%@@3@%

%%ﬁqﬁzaﬁ@sﬂﬁﬂlom
. .&mww@ﬁm@am@ﬁ

e & —
(1) 3.17x10'8
(3) 347x10%°

@ 3.17x10"°
@ 3.17x10"7

gl % s & 6Rp (Ry ot @t e ¥) S=g
TR forell Jediferes S @1 et 24 h ¥ e
g Iuws, Rrae goit & g% ¥ 96 2.5 Ry
¥, @I ATadEE B

y = 2y 24
(D 2511 2) 25
(3) 6J2 n @ 1242 h
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Angular width of the central maxima in the
o]

Fraunhofer diffraction for A = 6000 4 is 0 -
When the same slit is illuminated by another

monochromatic light, the angular width
decreases by 30%. The wavelength of this
light is,

(1) 60004 2 42012

[o} o}
(3) 18004 4) 42004
The work function of a photosensitive
material is4.0 eV. The longest wavelength
of light that.can cause photon emission from
the substance is (approximately)
(1). 31 nm (2) 310 nm
(3) 3100 nm (4) 966 nm

A proton and an ¢ — particle are accelerated
from rest to the same energy. The de Broglie

wavelengths A » and A, are in the ratio,

1y 2:1

3) 2:1

Q) 41
@) 1:1

The rate of radioactive disintegration at an
instant for a radioactive sample of half life

2.2X109S is 101%~!. The number of
radioactive atoms in that sample at that
instant is,

1) 3.17x10'8
3) 3.17x10%

@) 3.17x10"
@ 3.17x10"

The time period of a geostationary satellite
is 24 h, at a height 6Rg (Rg is radius of
earth) from surface of earth. The time period
of another satellite whose height is 2.5 Rg
from surface will be,

Yal n 42
(1) 2511 ¥3) 55
(3) 62 h @ 1242 h
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32 OUR WER % IFEl & fOEd 9 59 & 99 &

33

F1_

|1e feretor s@ # q9Y TG Wl % A E
% o FpY et T @l o WeRdl 7

En
JQK 7 1
(a)
E N
J >t
(b)
E
A, s
(©
En
S 1
A4 \QQ
g\
(d ,§*
(1) (a) 3T (b) N
(2) % (a) N

G) (@ T @) N

@ (@), (), (), @

m T @ wg fvs fed get dfhw 7
(T UriE = W) WX @ §. ) 59 s o
B AR I STy Rpar war ¥, U 9% 30
Ty yeM T T U | st sifHiea qe
Ty g @ uem F ¥, ast F Ry -

N R

(1) FSmg\/1+p,2
%

2) |Fl=mg
.9

@) |F|=mg+ung
_)

@ |Fl=pnmg
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32 The variation of EMF with time for four types

33

of generators are shown in the figures. Which
amongst them can be called AC ?

Ea
JHK o .
(a)
E N
IS
(b)
EN
A s,
(©)
E N
7 7!
(d)

(1) (a) and (b)

(2) only (a)

(3) (a)and (d)

@ @, (), ), (@)

A body of mass m is kept on a rough
horizontal surface (coefficient of
friction = JL). A horizontal force is applied
on the body, but it does not move. The
resultant of normal reaction and the frictional
force acting on the object is given by F, where
Fis,

N _

(1) FSmg\/l—Ir].Lz
ﬁ

(2) |Fl=mg
_)

@) |F|=mg+umg
._)

@ |Fl=umg
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34

35

36

™ A @7 S Sm T s BT NG WY
A weEl ¥ g IR ¥ T ¥ & g e
A B FIIH m T Th qEC b Rad [Gesh
A g ATy T B T | 5 AR ¥ ga
ol & —

— myv — my
(1) 5 @ 3

3 2 5 9

—my —my
(3) 5 4) 3

500 g %1 B fuve S o F Rervmraren H %,
T ®1E ufEdl 9w, fae X-ges ama ¥ g9
STE forerer s &, i fmar mn ¥
3 fuve & frgell X=8m quwr X =12m w
M & | HE: A

AN
20
10.-
. fa\\ _x
4 @\’8 012 (m)
-10 &
\Q"Z)-
—2O'E§§S\
T S @ N

(1)..23" /s &R 20.6 m/s
(2) 18 m/s & 20.6 mis
(3) 18 m/s 3T 24.4 m/s
4) 23 mis 3 24.4 mis

159 50 cm o w2 kg B @ 3 faferst
30° @ % g o Rl oTMa a HAT @
3T Foh W ¥ | 7 Rafvrest & defa s ot 9@
4 m/s ¥ | ST I3 U FfUST & Tw T gl
B, [g = 10 m/s? Sfs]

(1) 12m Q) 24m

(3) 22m @) 1.6m

F1 _ Hindi+English ]
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34 A particle of mass 5m at rest suddenly breaks

35

36

on its own into three fragments. Two
fragments of mass m each move along
mutually perpendicular direction with speed
v each. The energy released during the
process is,

4
M) %mvz @ Zm’
© %mvz @ %mvz

An object of mass 500 g, initially at rest, is
acted upon by a variable force whose
X-component varies with X in the manner
shown. The velocities of the object at the
points'X =8 m and X =12 m, would have

the respective values of (nearly)

NE(N)

20

10--
. 7 g
4 5 I8 1012 (m)

-107T

207

9B e N

(1) 23 m/s and 20.6 m/s
(2) 18 m/s and 20.6 m/s
(3) 18 m/s and 24.4 mls
(4) 23 m/s and 24.4 mls

A solid cylinder of mass 2 kg and radius 50
cm rolls up an inclined plane of angle of
inclination 30°. The centre of mass of the
cylinder has speed of 4 m/s. The distance
travelled by the cylinder on the inclined
surface will be, [take g = 10 m/s?]

(1) 12 m 2 24m

3) 22m 4 16m
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37 frdh T W9 W @A PR | 59 & I %

38

39

40

ST & FART & AP H BT T | 36 0E
HITT &I & BRl —

P
® 7 @ P

@

il
(3) 0 5

47 % T vE ¥ g 9 il @ ane am
eHlel § ST ¥ &I el el &, A grEy
fiftss & Jagew & % foell g W v %

A A
® 9% @ 117
A A
3 57 @ 10

ferelt f& oow @ A wHE g0 25 cm ¥ | §6E
Wﬁmﬁw@wﬁm

ﬁa‘rrﬁr% |aﬁé‘€r%m€fma@@i§s
T, O e wban Beard gk

(1) 18.75 cm, 37.5 cm Q\Q

(2) 50 cm, 100 cm S

(3) 100 cm, 50 cm

@) 25 cm, 50 cm

T T ¥ 100 m T 9% Rz 200 m SO &
T el A Bl @ UH-qEl B A afrer faw F
M 9 25 m/s § 3 TMiwar T € &1 Jei T
¥ 13 I it B ofk ®el wh-qEy § WuE
BN ? (g = 10 m/s?)

(1) 4s & v9a@ 120 m & AR W

2) A it duz T8 BN

(3) 2s% yeEr 180 m & FuE W

(4) 2s % wyEE 20 m & FAE W

_ Hindi+English ] 13
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37

38

39

40

An equiconvex lens has power P. It is cut
into two symmetrical halves by a plane
containing the principal axis. The power of
one part will be,

P
» 7 @ p

P
® 0 @ 3

In a Young's double slit experiment, if there
is no initial phase difference betwieen the light
from the two slits, a point"on the screen
corresponding to the fifthminimum has path
difference

s A
m 93 @ 1z
A 2
3 5% @ 105

Adouble convex lens has focal length
25/cm. The radius of curvature of one of the
surfaces is double of the other. Find the radii
if the refractive index of the material of the
lens is 1.5.

(1) 18.75 cm, 37.5 cm

(2) 50 cm, 100 cm

(3) 100 cm, 50 cm

4 25 cm, 50 cm

Two bullets are fired horizontally and
simultaneously towards each other from roof
tops of two buildings 100 m apart and of
same height of 200 m, with the same velocity
of 25 m/s. When and where will the two
bullets collide ? (g =10 m/s?)

(1) after 4s at a height of 120 m

(2) they will not collide

(3) after 2s at a height of 180 m

(4) after 2s at a height of 20 m
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42

F1

F9MT 7Y aftuy ¥ ford oSl alweHieT &1 UTeHih
y

20Q 30Q
30Q éOQ
| i
| |
2V
() 057V 2) 04V
(3) 06V @ oV

P I
aaﬁqwﬁaég5=i%wuaﬁﬁm

Rafy & & | o9 ol w1 AedArie ok @ &
gl &1 orEeT-Seer BT T A | g HIEL
g ®E HON? AR T, A g e Rafr
] P

o L4

"0 b

. P _bL-}

@) ST L

4) &, =¥ sqEm feg TR

@

_ Hindi+English ]
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The rcading of an ideal voltmeter in the
circuit shown is,

20Q 30Q
30Q 20Q
| |
| |
2V
1) 0.57 2 04V
(3) 06 ¥ @4 oV

The 'metre bridge shown is in balance position

P i

with Ezg If we now interchange the

positions of galvanometer and cell, will the
bridge work ? If yes, what will be balance
condition ?

N

6y

€))

€))
@

no, no null point
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43 gz & gEeg & & A9 SEgal — AR 9%
H, Seatax ues Va9 77 &9 § & S 99y
¥, (Bg =37 g4 &)

(1) V =Bgcosd, H=Bgsind
(2) V-=BE,H=BEtan8
(3) V=BEtan8, H=BE
(4) V =Bgsind, H = Bgcosd

44 = 2dgst 1 6 2 | oot WU @) g waen 200

3 100 & Ta gt sfrEa Breand wAsm 40 cm

&R 20 cm ¥ 1 A T WA 6T () Wt B

T, a3 I el % orgRy gEe & w6

g & —

2 12

(1) 2:1
3) 1:1 @) 41

%3 dren Twe e g @ v ® WY,
ARE # TN FFEAR & A F ear § | guE
weT @t e R ¥ 1 3@ Wer &% %w P W g
TEHY T T —

45

~. N\

(1) 3ugi/32R, 9T & &t

Boi
2R,%ﬁa'{ﬁaﬂ"c

T
3ugi/32R, ST F @R

@

3)
O

F1 _ Hindi+English ] 15
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44

45

The relations amongst the three clements of
earth's magnetic field, namely horizontal
component H, vertical component ¥ and dip

& are, (B =total magnetic field)
(1) ¥V =Bgcosd, H=Bgsind
(2) V =Bg, H=Bgtand
(3) V=Bgptand, H =By
(4) V =Bgsind, H= Bpcosd

Two toroids 1 and 2 have total no. of turns
200 and 100 respectively with average radii
40 cm and 20 cm respectively. If they carry
same current , the ratio of the magnetic fields
along the two loops is,

(1) 2:1 @ 1122

3) 11 “4) 41

A straight conductor carrying current i splits
into two-parts.as shown in the figure. The
radiustof.the circular loop is R. The total
magnetic field at the centre P of the loop is,

)

3ugi/32R, inward

M inward
2R’
Zero

3ugi/32R, outward

@

()
(4)
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46

47

48

49

50

51

F1

= & § o faga—ompl a1 a8 #9 & 7
(1) BF,; <NH; < NF; < H,0
(2) H,0 < NF, < NH, < BF,
(3) NH; < BF; < NF; < H,0
(49) BF; < NF; < NH, < H,0

w5 faea % Reedietor g wra sraiesga
HifsTw FREs ¥ 9% T frwar -

(1) MgCl, (2) CaSO,

(3) MgSO, (4) Na,SO,

g gar °rg wrogst (MCl) & @ & o9
faetgde wawr (MCI - 2 H,0) et & s
T

(1) RbCl (2 KCl
(3) LicCl 4) CsCl
aﬁﬁw S fqwEa § Qe wREs 6

T A AT ¥ T Al U] EeH T e
'B'¥ I'A' gar 'B' wH: #@ME 7
3+

@ [Al(H), [, dsp?
@ | Al(H0), i; d’sp?
N\l 342
3) Al( e %P d
&
) 3%
) O ;v Sp
@@{2 )4_

(1) waferesiT (2) fweiemge
(3)  Taferenr 4) fufeere
Tod BYF & R |

(1) s, @t € e #i @ g & gedr
T

(2) 1 s s § S oMkEd TeEl | g
Gk

(3) At TE dED THT W @i § 41
% e & o Tga BT 3, et Hadral
T

4) wh i ¥ Wi &9 & W IW aw
THEts wwY § |
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Which of the following is the correct order
of dipole moment ?

(1) BF; <NH; < NF; <H,0

(2) H,0 < NF; <NHj < BF;

(3) NH; < BF; <NF; < H,0

(4) BF; < NF; <NH; < H,0

Crude sodium chloride obtained by
crystallisation of brine solution does not
contain -

() MgCl,
(3) MgSO,

(2) CaSO,
(4) Na,SO,

Which of the alkali metal chloride (MCIl)
forms its. dihydrate salt (MCI -2 H20)

easily.?
(1) "RbCl (2) KCl
@) LiCl 4) CsCl

Aluminium chloride in acidified aqueous
solution forms a complex 'A’, in which
hybridisation state of Al is 'B". What are 'A'
and 'B', respectively ?
73+

1) _AI(H20)4_ ., dsp?
@ |Al(H0), 3+, d%sp’
3) Al(HZO) 3+, spd?
@ [a1(5,0),]7, s

Which of the following compounds is used
in cosmetic surgery ?

(1) Silicones (2) Zeolites

(3) Silica (4) Silicates

Identify the incorrect statement.

(1) Ores are minerals that may contain a
metal.

(2) Gangue is an ore contaminated with
undesired materials.

(3) The scientific and technological process

used for isolation of the metal from its

ore is known as metallurgy.

Minerals are naturally occurring

chemical substances in the earth's crust.

4

[ Contd...

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

52

53

54

55

56

57

F1

T% AR X S & 91 AR BT WX T

@ @ @ & 1 {9 'Y, CuSO, & fymwT #
STAMA B 9 Cu,yP, S & it o Sl 7 &
s ¥ | AP X @ Urfe B |

(1) As,04 (2) Cay(POy,
(3) CasP, (4) NH,CI
o1 BreRE & sTeEeRTst ¥ o g s
U7 S § 7
(1) H;PO, (2) H;PO,
(3) HyP,0, (4) H,PO,
fr= A 9 ‘elife @1 ger g usih |
(1) H,S0, ) H,S,04
(3) 1,8,0, (#) H,S0,
TS S ST g frid KMnO ,, %t Wil
HTHISTES o HFT IUDIA {61 Sl & o SIisRs
e X' A afafig st smar & 1'X' ¥ -
(1) I0; @ 10
G I @ 104
K\Q

[cocig T %mmww@wwﬁ

(drow.ug.f) 18000 cm™] Q?COCLJ
% fog @ow.oed. e

(1) 18000 ecm™ (2) 8000 cm™t

(3) 6000 cm™! (4) 16000 cm™
HH-A ¥ @ ™ oliquEs @ 36 HeE-B ®
@ o ¥ gafaa #ifg

e - A FwH - B

(@ Na,0 (a) STES

(i) ALO, (b) st

(i) N,O (c) <m=g

(iv) CLO, (d) wwauHt

fre forpedl & & e & Foreds avit g W@ €7
(1) (@), (i)-(d), (iii)-(b), (iv)-(c)
2) @b, (i)-(d), (iii)-(a), (iv)-(c)
(3) Db, (1i)-(a), (iii)-(d), (iv)-(c)
@) (@)-(0), (i)-(b), (iiD)-(a), (iv)-(d)
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57

A compound X' upon reaction with H,O
produces a colorless gas "Y' with rotton fish
smell. Gas 'Y' is absorbed in a solution of
CuS0, to give CusP, as one of the products.
Predict the compound X

(1) As,O4 (2) Cay(POy),

(3) CaP, 4) NH,CI

Which of the following oxoacids of
phosphorus has strongest reducing property ?
(1) H,PO, (2) H;PO,
(3) H,P,0, (4) H;PO,

Identify the correct formula of"eleum’ from
the following.
(1) H,S0,4

(3) H,S,0,

@) 7H,8,0,
(4) \H,SO,

When neutral or-faintly alkaline KMnO, is
treated with potassium iodide, iodide ion is
converted into X', X' is -

(1) “105 @ 107
@)~y @ 10y

The Crystal Field Stabilisation Energy
(CFSE) for [ CoClg | is 18000 em™. The

CFSE for [CoCl, ]2‘ will be -

(1) 18000 cm™!  (2) 8000 cm!
(3) 6000 cm!  (4) 16000 cm!

Match the oxide given in column A with its
property given in column B :

Column - A Column - B

() Na,O (a) Neutral

(i1) Al,O4 (b) Basic

(iit) N,O (c) Acidic

() CL,0, (d) Amphoteric

Which of the following options has all correct
pairs ?

(1) @-@, ()-(d), (iii)-(b), (iv)-(c)

) @-(b), (i)r(d), (iii)-(a), (iv)-(c)

(3) @-b), (i)-(), (i)-(d), (iv)-(c)

4)  (-(0), (1)-(b), (ii)~(a), (iv)(d)
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F1_

NaOH & 2 M wdig famas &1 T¥a
1.28 g/em? ¥ | fyerae & wwerar & 1 [ReEn
mar ¥ : NaOH @1 5wt =™ = 40 g mol™1]

@
“4)

(1) 1.67m 1.32m

(3) 120m 1.56 m

3wl s qur 3 HW s TET A HEw o
() 4f (2) 6d
3 5p (4) 3d

TISEISH TTATY] & T ST &t & U geae @
& srEr gt B,

[fem e & : 9 Brewn, ag = 52.9 pm]

(1) 529 Tpm (2) 105.8 pm

(3) 211.6 pm %ﬁ) 211.6. o pm
&s
N
N
3740@13113131?(61@% 18 g &
A s
[R = 0:083& LK~! mol~! %1 wam %]
()*3.10 L () 537L
(3) 96.66 L (4) 55.87 L

s eyl i 10° Nm2 & Rt s & fores,
300 K 9¥, 103 m3 & 102 m? & gaand &q
¥ fomm & ¥ 1 T o e ™ wRE ¥ -

@) — 900kJ
@) -9007J

(1) +900kJ
(3) +270kJ

Hindi+English ]

18

58

59

60

61

62

The density of 2 M aqueous solution of
NaOH is 1.28 g/em3. The molality of the
solution is [Given that molecular mass of
NaOH = 40 g mol~!]

(1
3)

1.67m 1.32m

@

120 m (4) 156 m

Orbital having 3 angular nodes and 3 total

nodes is -
(1) 4f 2) 6d
3) Sp 4) 3d

In'hydrogen atom, the de Broglie wavelength
of an electron in the second Bohr orbit is -

[Given that Bohr radius, ag = 52.9 pm]

(1) 529 pm (2) 1058 pm

(3) 2116 pm  (4) 211.6 T pm

The volume occupied by 1.8 g of water
vapour at 374 °C and 1 bar pressure will be -

[Use R = 0.083 bar LK~! mol]
(1) 3.10L
(3) 96.66 L

() 537L
(4) 55.87L

An ideal gas expands isothermally from
10-3m3 to 102m3 at 300 K against a
constant pressure of 105 Nm—2. The work
done on the gas is -

- 900 kJ
-9001J

(1) + 900kJ
(3) +270kJ

2
4)
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63 THA T B 1Al § U oS 9 @ ek
wE BT & o fob fasr o fammar wn oy -

A(Py, Va, Ty )

o>

B(Pg, Vp, Tp)

C(Pc» Ve, Te)

V=

AB — gHadl T9I9T
AC = &g JEI0

frddana e e & s ?

(1) Womarht > Wegisr
(2) To>T,
(3) ASgaarh > ASgyna
@ T,=Tg
64 0.01 M NaOH (aq) forea= @1 pH &rm Q
1) 12 @ 9 O
(3) 7.01 4 2 &5
\Q‘Zr
65 fr= 7 9 ®FE Fres s ARSI
SEE R e Lot T
(1) HCI (2) HSO,
(3) HCO3 (4) N,
66 NaF % 0.1 M fqeras ¥ Cal,
(Kgp = 53 % 10711y 2 A femar 2@ -
(1) 5.3x1079 mol L
(2) 5.3 %1010 mol L1
(3) 53 x101 mol L1
(4) 5.3x1078 mol L1
67 CrOg % Cr @l siiadisor s & —
(1) +6 (2) +4
(3) -6 4) +12
F1 _ Hindi+English |
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63 Reversible expansion of an ideal gas under

64

65

66

67

isothermal and adiabatic conditions are as
shown in the figure.

A(Pa- Vp, Tp)

B(Pg, Vg, Tp)

C(Pc. Ve, Tc)

A\

AB — Isothermal expansion
AC — Adiabatic expansion

Which of the following options is not
correct ?

(1) Wisothermal o Wadiabatic
(2) Tc=>Ty

(3)
(4)

The pH of 0.01 M NaOH (aq) solution will
be -

(H 12
3) 7.01

A Sisothermal > A Sadiabatic
To=Tp

@) 9
4 2

Which of the following cannot act both as
Bronsted acid and as Bronsted base ?

(1) HCI (2) HSO,

(3) HCOj (4) NH,;

The molar solubility of CaF, Kep =33 x
10711y in 0.1 M solution of NaF will be -
(1) 5.3 x 10~ mol L~

(2) 5.3 %1071 mol L1

(3) 5.3 x 1011 mol L1

4 5.3 x1078 mol L

The oxidation state of Cr in CrOyg is -
(1) +6 2) +4
(3) -6 4 +12
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68
®

(i)

(iii)

(iv)

69

70

71

F1

IAEH B WHH & WY GHINT SHINTg —
ECECT W

V,0; (a) TURT @ TIFA A
STIB T

TiCl, + (b) UTmEH W

Al(CH;), TEARETT

PdCl, (©) H,80,%
afrenfirs frmfor &
SO, &1 ST

e gt (d) udel= @
ERGEJCTU

e ¥ 9 o faesr w8 ¥ 7

(1Y @), (ii)-(c), (iii)-(b), (iv)-(d)
) @-(), (i)-(a), (iii)-(d), (iv)-(b)
(3) (@)-(c), (i)-(d), (iii)-(a), (iv)-(b)
@ (@)-(a), (i)-(b), (iii)-(c), (iv)-(d)
e ¥ 9 gaife @ seikheET & —

®
(1) CH; —CH-CH, — CH, — CHj

@

2 CH;-CH,-CH,

(3) (CH;) &@I—CH:;

& ®
4) C \Q—CHZ - CH - CH, — CHj

R lsemrar 1 wuRafy o 7 e A C
& 1Y FNGT A 9T 9 T AR
IE I EE -

(1) nI=w
(2) SRR
(3) 2, 2 - sEARIeEA
(4) frenu=s
frer arfrfpa &,
mwﬂﬁm

— mﬁ LY

H,C-C=CH s

s 'A' ¥ gufea R (0) o @ e
:

1) 24
B3 21

2 18
@ 9
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®
(i)

(ii)

(iv)

69

70

71

Match the catalyst with the process :

Catalyst Process

V505 (a) The oxidation of
ethyne to ethanal

TiCl, + (b) Polymerisation

AI(CH3)3 of alkynes

PdCl, (c) Oxidation of SO, in
the manufacture of
H,S0,

Nickel (d) Polymerisation

complexes of cthylene

Which of the following is the correct option ?
(1) ()@, (i)-(c), (iiD)-(b), (iv)-(d)
(2) Ai)-(c), (iD)~a), (iii)-(d), (iv)-(b)
3) (). (i), (iiD-(a). (iv)-(b)
@) @-(), (Db, (iiD)-(c), (iv)-(d)

The most stable carbocation, among the
following, is -

@
(1) CH;-CH-CH, - CH, - CH;
@
2) CH;-CH,-CH,
@
3) (CH;),C-CH-CH,4

@
4) CH;-CH,-CH-CH, - CHs

The alkane that gives only one mono-chloro
product on chlorination with Cl, in presence
of diffused sunlight is -

(1) n-pentane

(2) Isopentane

(3) 2, 2 - dimethylbutane

(4) ncopentane

In the following reaction,

red hot
iron tube

873 K
number of sigma (G) bonds present in the

H;C-C=CH A, the

product A, is -
(1) 24
3) 21

(2 18
“) 9
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72 =% ®f@ T S Sugw Rewsie & @ feiw
gs § vge B 3, ¥
(1) NO, () Co,
(3) AT iw 4 vafrem

=1 &, a5 W ervEen @ e S G99 W g
g g, & -
sreira NaOH

(1) H,C=CH-CH,CI >

73

H,C = CH - CH,OH

) QCHZCI ST NaOH_,

S NaOH
e

3) cl

&
Ny
O

S

N

CH,

QO
ONa

CH,

st NaOH

(4) HyC-CH,-Cl

H,C - CH, - OH

v fidias Tepieia & ™ @& 573 K 9T ™
BT H HUT YT B &, O T Il I
g"\'rn_

(1) s feer

(2) T TN

(3) UF wEHFERTD TS

(4) U uieEEE

74
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72 The liquified gas that is used in dry cleaning
along with a suitable detergent is -

() NO, 2y CO,
(3) Water gas (4) Petroleum gas

73 The hydrolysis reaction that takes place at
the slowest rate, among the following, is -
(1) H,C=CH-CH,C] 2% NaoH
2) @— - CH,Cl _,.aq-NaOH |
3) Q €l 24 NaOH
CH,4
SRS
ONa
CH,4
4) H,C-CH,-C] —24-N2OH
H;C-CH, - OH
74 When vapours of a secondary alcohol is
passcd over heated copper at 573 K, the
product formed is -
(1) a ketone
(2) an alkene
(3) a carboxylic acid
(4) an aldehyde
[Contd...


http://studentsuvidha.com/
http://studentsuvidha.com/

75

76

77

78

79

F1_

CuS0, - SH,O & @ €T, eEsies
e S@ SUY/STUfS Wl T Bl —

(1) 2 2 5

) 3 1

frere ofieTss &1 g, 39% fktew # gig Jfe dw
Ni3* s ¥ | fower & Ni2t omow & v o
IuReg e @1 ofo & -

(1) 0.50 () 031

(3) 0.96 4) 0.04

IRy RN ¥ weies fuwd Ew 9w &

FTai AT B e s gra # P A @

BF-TT HYT Tl & ?

(1) Apix V=0, Rex T g P

(2) A-A @1 B-B & Si9 SiareE Seasr
T, 37 A-B o1jett % €9 B9 O sy
A % O B |

(3) A-A T B-B & 919 SiqTem SeN
T, 39 A- [ o/ S8 TRy uT
T B )

“4)

A@ =0, fer Tam P

N
aa%awﬁ,mwmn‘m—amo.oz%w%
G &1.H §A a9 1.2 atm § T I &A1 @
STt = g -
(131.176 atm
(3) '1.18 atm

(2) 0.98 atm
4) 1.76 atm

ABY/AL Agt/Ag, KY/K @ Cr3%/Cr % A
T 9% S fawe wH —1.66 V, 0.80 V,
-2.93V @ 0.74V ¥ | aigsi & =S
e BT GE wd HH T —

(1) K>Al>Ag>Cr

(2) Al>K>Ag>Cr

(3) Ag>Cr>Al>K

4) K>Al>Cr>Ag

Hindi+English ]
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The number of hydrogen bonded water
molecule(s) associated with

CuSO, - 5H,0 is -

1 2 @ 5
G) 3 “4) 1

Formula of nickel oxide with metal deficiency

defect in its crystal is Niy 9gO. The crystal

contains Ni2* and Ni3* ions. The fraction of
nickel existing as Ni2* ions in the crystal is -
(1) 0.50 2) 031
(3) 0.96 4) 0.04

Which ‘of the following statements is correct
regarding a solution of two components A
and Brexhibiting positive deviation from ideal
behaviour ?

(1) Apix V=0 at constant T and P.

(2) Intermolecular attractive forces between
A-A and B-B are equal to those between
A-B.

Intermolecular attractive forces between
A-A and B-B are stronger than those
between A-B.

4 A;x H=0 at constant T and P.

€)

In water saturated air, the mole fraction of
water vapour is 0.02. If the total pressure of
the saturated air is 1.2 atm, the partial
pressure of dry air is -

(1) 1.176 atm (2) 098 atm

(3) 1.18 atm (4) 1.76 atm

The standard electrode potential (Ee) values

of AB*/Al, Ag*/Ag, K¥/K and Cr3*/Cr are
-1.66V, 0.80V, -2.93V and -0.74V,
respectively. The correct decreasing order of
reducing power of the metal is -

(1) K>Al>Ag>Cr

(2) Al>K>Ag>Cr

3) Ag>Cr>Al>K

4) K>Al>Cr>Ag

[ Contd...
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80 =1 arffrn ¥ <79 oWl g&7 S@w C qar D
wAM: ¥

H,C - CH, - CH, -0 - C(CH;j),

HI (s &)
A

H,;C - CH,

C+D

(1) -CH, -1 wur

HO - C(CHs),
@) H;C-CH,-CH,-OH gur
HO - C(CHs),

H;C-CH, —CH, -1 @t

3)
I-C(CHs),
H;C - CH, ~OH @

%) —CH,

1-C(CHs),

81

M

@

3)

COCH,
(i) NaOCl
(i) Hy0"

4)

F1 _ Hindi+English ]
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80

81

6y

@

&)

)

The major products C and D formed in the
following reaction respectively are :

HyC - CH, - CH, -0~ C(CH;),

excess HI
A

H,C - CH, —

s C+D

) CH, -1

and HO - C(CH,),

~CH, - OH

(2) H;C-CH,

and HO - C(CHs),
(3) HyC-CH, - CH, -1
and 1- C(CH,),
OH

CH, -

(4) HyC-CH, -

and - C(CH;),

The reaction that does not give benzoic acid
as the major product is -

CH,OH
PCC
Pyndlmum } .
ch]orochromate
CI,0H
KMnO, /H*
CH,OH
K2Cl‘207
COCH,
(i) NaOCl
(i) H3O
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A Ao AeHad R 59 YHI & TS §

o]

B 2l
km(HZSO4) =x Scm” mol
o 3 2 1
lm(K2304) =y S cm” mol
° _ 2
xm(CH_o,COOK) =7z S cm” mol

CH,COOH % g A, (s cm? mol ™! ﬁ')
wrft -
(x=y)

@) >
(4) x+y+z

(1) x-y+z
B x-y+2z
Tw 999 &g afufew w1 30 fHuaie

2.303 x 107 57! ¥ | 5w st  40.g
@ gAY 10 g @ 9N § W 9reT 999 & -
[Re o & log o2 = 0.3010]

(1) 2000s (2) 602s
(3) 2303s \@t) 301 s

Wﬁm‘ E, =07 3w
q'{

16 x 108 ‘1%|400K1T(
[ﬁmt%n% ﬁaﬁem

R = 8.314 J K= mol™']
(1) 16%10%s1 (2) 3.2x100s7!
3y 3.2%10%sl (4) 1.6x10%s71

Teh WIS oTeh SIS GHarT L&t &l e
B e ga fabew & —

M 2=kp ™ @ ==kp!
m m

3 Xokp®? @ Xoikp??

Prr & & B ogEET ¥ 7

(1) Li, ) 0,

3) N, @ H,

_ Hindi+English ]
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Following limiting molar conductivities are
given as

o

2 -1
km(HZSO4) =x S cm” mol
° 2 -1
?\'m(KZSO4) =y S cm” mol
° 3 2 1
)”m(CH3COOK) =z S cm” mol

A, (in S cm” mol‘l) for CH;COOH

will be -

(x-y)
() [ X=y+z 2) 5 +z
@) x-y+2z @) x+ty+tz

A first order reaction has a rate constant of

2303 %107 71

40 g of this reactant to reduce to 10 g will
be-

[Given that log;q2=0.3010]

(1) 2000s (2) 602s
(3) 2303s 4) 301s

. The time required for

For a reaction, activation energy E, =0 and
the rate constant at 200 K is 1.6 x 109 s71,
The rate constant at 400 K will be -
[Given that gas constant,

R = 8314 TK~! mol™!]

(1) 1.6x103s1 (2) 3.2x100s7!

(3) 32x104s1 (@) 1.6x106s7]

The correct option representing a Freundlich
adsorption isotherm is -

(1) Li
3) N,

[Contd...
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T T W@ et sfvemds % g erfufear
B A | g SwR A ¥, ¥ -

NH,

|
(1) CHj- ? — CH,CH,CH,

CHj

CH3
|

@ CH;-C- CH-NH,
[

CH; CHy

3) CH;—- (IIH ~NH- CH - CHj

|

CH; CH;3

CH,CHj

|
(4) CH;—-CH,— N-CH,CH,

Wﬁaﬁa@rmﬁmﬁﬁﬁwg
% 49 oEs (qrga) @ AR ? (\\Q
(1) e feds oo &Q

(2) ¥a@ D AT ‘Z)-
3) ﬁ@wam@wﬁ@w
Y} %rcmmuﬁismm

SauiE W §99 & WMyae 9gae @ o1 %
faes & w9 ¥ ygad TATR, T -

(1) TRICRAEZE
(2) =fr-N
(3) e

(4) T™@E-6, 6

IE PRM W, T FiwT I UL T Tl §
U HAR T @ ¢, ;W -

(1) g (2) wew

(3) i 4 T

25

87

88

89

92

The amine that reacts with Hinsberg's reagent
to give an alkali insoluble product is -

NH,
I
(1) CH; - ? — CH,CH,CH,

CHj

CH;

|
@) CH;-C- CH-NH,
|

CHz CH;
(3) CH; - CH - NH~CH — CH,
(|:H3 |CH3
CH,CHj
(4) CH3—CH, - 1l1 — CH,CH;,4

Which structure(s) of proteins remain(s)
intact during denaturation process ?

(1) Secondary structure only

(2) Tertiary structure only

(3) Both secondary and tertiary structures
(4) Primary structure only

The polymer that is used as a substitute for
wool in making commercial fibres is -

(D
@
3)
Q)

polyacrylonitrile
Buna-N
melamine

nylon- 6, 6

The artificial sweetner stable at cooking
temperature and does not provide calories
is -

(2) alitame

(4) aspartame

(1) sucralose

©)

saccharin
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we X forent st 9 A ¥ ok A et s
Tt B ¥ % fyaw & usang a9l daia & ehi
i AB &1ar B ¥ | 39 Y S| @&l §HIA:
TAIEEY FT T FEA § 7

€)) IA A (FR); IB i (wrem)

(2 Mi@E); IBi(@m)

() MiE); BB (wm)

(4 IA1A (FY); 1B 1B (vm)

e EislieT 7 UH gl T 1 & § AT S
¥ | e o @ Reafey orger fafeor  wemew
e ?

(1) o/ v & e s amen &

(2) tEr & foed el emamE, s e #
Ols g WX WA

TET &9 WRf g3 €O ¥ AT § §gd of
&9 @ g El

T AT & R SEM 9 &

G)
“)

2T W TN Rearcrmar @ WEeA & RsieTe
g ® oEd A, B C @' g8 -

Q
@ A
e
Res—pl)onsem

4
| C I

o

Physiological Response
f & o Sk fawer gy -

(1) A ==Ugs zmN; B = 8, C = ficdl
9B

(2) A =9RN TEN; B = @b AMP; C =
FEMIR BT

(3) A =RYgs g, B = EEIEl B,
C = Wm

(4) A =9 gEe; B = 7@, C = aog

AMP

Hindi+English ]
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In a marriage between male with blood group
A and female with blood group B, the
progeny had either blood group AB or B.
What could be the possible genotype of
parents ?

(1) TATA (Male) ; IB i (Female)

(2) IAiMale) ; IB i (Female)

(3) IAi(Male) ; IB IB (Female)

(4) IAIA (Male) ; IB IB (Female)

A population of a species invades a new area.

Which of the following condition will lead

to Adaptive Radiation ?7

(1) Area with many types of vacant habitats.

(2) (Area'with many habitats occupied by a
large number of species.

(3).- Area with large number of habitats

having very low food supply.

Area with a single type of vacant

habitat.

@

Identify A, B and C in the diagrammatic
representation of the mechanism of hormone
action.

A
S

y
L C |

Physiological Response

Select the correct option from the following :
(1) A = Steroid Hormone; B = Receptor;
C = Second Messenger

A = Protein Hormone; B = Cyclic AMP,
C = Hormone-receptor Complex

A = Steroid Hormone; B = Hormone-
receptor Complex; C = Protein

A = Protein Hormone; B = Receptor;
C = Cyclic AMP

)
€))
@
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AT § It wRea sy & S kel St

HAT T S qmropett @t frsratfaa wel & 1@

ISR o & T T ST URIE SURST S §

FiTs I%

(1) 5 wrphie e SIS BT § ST wawT
H T 3 g el &7 e Hdr E

il witre wam & T

e & fadw B ¥ ok Rt v %
LS T START S 8 |

W i emiear & g # ifdwsr
IO B ¥

@)
3)

G

I WS o e SR e @1 T iy ¢
(1) AR i YT S ST Bl &9 Bl
T oY ofT: Yo SIEHET HaT ¥ |
(2) aia:wanavm,ai%:wgmg
&l fomam I Hepan | S\\

¢
(3) W:WW%W@W
| S
¥ Hemd o & | @
(4) of: gorT fordlt Uil & Qsaenhe & R
% forg amasT® T

Hepierd Wiges yaew &1 feven s & 7T & S

T @ -

(1) o VA g geaEr S Ay

(2) el 9w wa W erle Sat gt Fiiew
T e

() @i fady o weele S wifdg

(4) Yo S wE frga Wew BT =Ry
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94 Humans have acquired immune system that

95

96

produces antibodies to neutralize pathogens.
Still innate immune system is present at the
time of birth because it

M

has natural killer cells which can
phagocytose and destroy microbes.

provides passive immunity.

@)
()

is very.specific and uses different

macrophages.

produces memory cells for mounting

“)

fast secondary response.

Select the incorrect statement regarding

inbreeding.

(1)

Continued inbreeding reduces fertility
and leads to inbreeding depression.

Inbreeding depression can not be

(2)

overcome by Out-crossing.

Inbreeding helps in elimination of

&)

deleterious alleles from the population.

Inbreeding is necessary to evolve a pure-

“

line in any animal.

A biocontrol agent to be a part of an

integrated pest management should be
(M
2

narrow spectrum and symbiotic

species-specific and inactive on non-

target organisms
3)
Q)]

species-specific and symbiotic

free living and broad spectrum

[ Contd...
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F1

e & § S st A aWdE 1 ge
WH T 7

(1) R

(2) BEREEN

(3) Nheeif e

(4) wEpfiE

wifyeT faeer & 4R Gl wd Fieg ufaes o
e T & -

(1) ey wiEes =EhE T’ I-F %
iftr ¥ wiats afen ufgeT vt ars
AR W 9@ |

gfer afaes Fifeg aiaes & smaea
Frear @ w1

iferg ufiaew srabe 2iar € e e
e =g o & |

fifer e & g e fareelt s
YT OIRT WEie Wipd uiasst %fog
foerg ™= % fow oot wfvw o

@
3)

)

W—Iﬁmwﬁg{ﬁw—ﬂﬁﬁqﬂqﬁ
&

™ ﬁmﬁrﬁ:a\& 3 fames &1 agw
HIT | %

w7 - 1 ,§* & - 10
P QO () e By,
(i) gure uiEed
PR (i) g9 W
FFIS (iv) Rfesem

(1)={@):(iv), (b)-(iid), (c)-(ii), (d)-()
2 @-GiD), (b)-(v), (0)-(1), (d)-(ii)
(3) @-(GiD), (b)-Gv), (c)-(ib), (d)-(1)
4 (@-(iv), (b)-(iid), (c)-(1), (d)-(i1)

FARTSTDBIT U1 fohe R @ &ar & 7

(1) welEEse & &9 4

(2) 9EN B N A REd FAD @ e 98
B

(3) N U @ B B q

(4) wEN wE Al SN @ 5 Y
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(a)
(b)

(©)
@

100

Which of the following organic compounds
is the main constituent of Lecithin ?

(1) Cholesterol

(2) Phosphoprotein

(3) Arachidonic acid

(4) Phospholipid

The main difference between active and
passive transport across cell membrane is :
(1) passive transport is confined to anionic
carrier proteins whereas active transport
is confined to cationic channel proteins.
active transport occurs more rapidly
than passive transport.

passive transport is non-selective
whereas active transport is selective.
passive transport requires a
concentration gradient across a
biological membrane whereas active
transport requires energy to move
solutes.

@
€)
@

Match the items given in Column - [ with
those in Column - II and choose the correct

option.

Column - I Column - II
Rennin (i) Vitamin B,
Enterokinase (i) Facilitated

transport
(iii) Milk proteins
(iv) Trypsinogen

Oxyntic cells
Fructose

() (@-(@iv), (b)-(iid), (c)-(ii), (d)-(1)
(2 (a-(iiD), (b)-(iv), (c)-(), (d)-(i1)
(3)  (@-GiD), (b)-(iv), (¢)-(i), (d)-(D)
(4)  (@)-(v), (b)-(ii), (c)-(), (d)-(ii)

Kwashiorkor disease is due to -

(1) deficiency of carbohydrates

(2) protein deficiency not accompanied by
calorie deficiency

(3) simultaneous deficiency of proteins and

fats

simultaneous deficiency of proteins and

calories

4)
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st ®a &1 Tu Hiwg |

(1) w9 IgHsdE 9 AAIHEE 9 § B
BT & q9 ofdieEE BT § |

Fryaee A JooTa SEWHH F HFaT |
BT

Tl siaTgi® Yl & eror Frisaae g
T

T $qE & A0 ATGGU! &S AgHSAg
TE Y B B T

@)
3)

CY

T TR FR TAYEH 998 6 1 9T G
e = oy & e saee @ @ wEd § 7

(1) Siq:eEEs &oan
(2) WSt B FA AT
(3) fTryae gwan

4) g d9ar

Hisw Id% % Ul HIUd WEASHIE B &

SA s & g IgAHT B B H

)] WSA%WW@% [ 7%
R & TwaT T |

@) SA s ¥ fgar @ @%maa%.
3) SAaﬁgﬁﬁwaﬁ it S T

(4) Faw SA Wis & TAT oEUe & W eTET
a1 B g ® |

arfeie Freg 2 & Fee T anfeic & Faw a9
T €T Us [ e Sus &y Ry 9% &maT
F yart 1 0.1 ¥&e 9 Ree st 3 ¢ 139 s
%

(1) @@ FHET 999 ¥ Jag T a0 § |
(2) onfie quia: faa & 9@ €

(3) & HWEET ¥ YA BT T ¢ |
(4) = QUi @El e S ©
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Select the correct statement.

(1) Inspiration occurs when atmospheric
pressure is less than intrapulmonary
pressure.

Expiration is initiated due to contraction
of diaphragm.

Expiration occurs due to external
intercostal muscles.

@)
3)
Intrapulmonary pressure is lower than

the atmospheric pressure during
inspiration.

(4)

The maximum volume of aif a person can
breathe in after a forced expiration is known
as :
(1)
@
3)
4

Inspiratory Capacity
Total Lung Capacity
Expiratory, Capacity
Vital Capacity

All the components of the nodal tissue are
autoexcitable. Why does the SA node act as
the normal pacemaker ?

(1) Only SA node can convey the action
potential to the other components.

SA node has the highest rate of
depolarisation.

SA node has the lowest rate of
depolarisation.

SA node is the only component to
generate the threshold potential.

2)
()
“)

A specialised nodal tissue embedded in the
lower corner of the right atrium, close to
Atrio-ventricular septum, delays the spreading
of impulses to heart apex for about 0.1 sec.
This delay allows -

(1) blood to enter pulmonary arteries.

(2) the atria to empty completely.

3
©)

blood to enter aorta.
the ventricles to empty completely.
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F1

T TRl B Sh B % Gy gAtaa iy

Ax shaa fawe &1 @ww AT

wiees dsgfRea (i) DNA @si & dsan

i waiRglieT (i) Siits DNA
THRE I WIEAY
w Tl

(ili) DNA & fasw
fafr w Fe

(iv) DNA & 3fd &
JRmaterst &t
AT

DNA gt
Tag dfeim T

(1) (@-@1v), (b)-(iii), (c)-(), (d)-(11)

(2) (@-(i), (b)-(iv), (c)-(), (d)-(ii1)

(3) (a)-(ii), (b)-(1), (c)~(iv), (d)-(ii)

4) (@)-(ii), (b)-(iv), (©)-(1), (d)-(i1)

Hares pBR 322 1X suftem aF whdtfs wRrded
W E -

(1) FRESFE & AR

(2) ITEERIT Ud HAHERA

(3) dfifafeT T TzmEa

(4) dhfaf o FREShe

TR ST @%ﬂﬂ . R e
& o g '@s HIAT HEA & —

(D) @) %= =

3) (4) wEuEE

wﬁw—aﬁ@ﬁm@ﬁﬁarﬁﬁﬁ%
e IR aifbaw §3 sgelt @ R wE §
3l dar BiR_si=gelt 1 | 95 wuf @r Gty
HEATA & —

(1) darem faume

(2) et sasH

(3) g frawwde

(4) wOEHIET

U T F FIRG RIUETT ® GAN B BA
HRd B P wefiEl @ swden § ah @
Titpd B T |

(1) oratus gl &

(2) Ufrew =i 3w A

(3) e @A A

@) e fodsT §
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105 Match the following enzymes with their

(@)
(b

(©
(D

106

107

108

109

functions :
Restriction (i} joins the DNA
endonuclease fragments
Restriction (ii)) extends primers
exonuclease on genomic
DNA template
DNA ligase (iii) cuts DNA at
specific position
Tag polymerase (iv) removes
nucleotides from
the ends of DNA

Select the correct option from the following :
(1) (a)-(iv),(b)-(ii1), (c)-(i), (d)-(ii)

(2) (@i (b)-(iv), (c)-(D), (d)-(iii)

(3) ((a)id), (b)-(i), (c)-(iv), (d)-(ii)

@ (@i, (b)-(v), (c)-(1), (d)-(id)
Thetwo antibiotic resistance genes on vector
pBR 322 are for

(1) Chloramphenicol and Tetracycline

(2) Tetracycline and Kanamycin

(3) Ampicillin and Tetracycline

(4) Ampicillin and Chloramphenicol

Exploitation of bioresources of a nation by
multinational companies without authorization
from the concerned country is referred to as -
(1) Bioethics (2) Biowar

(3) Bioweapon (4) Biopiracy

Camivorous animals - lions and leopards,
occupy the same niche but lions predate
mostly larger animals and leopards take
smaller ones. This mechanism of competition
is referred to as -

(1) Resource partitioning

(2) Competitive exclusion

(3) Character displacement

(4) Altruism

Decline in the population of Indian native
fishes due to introduction of Clarias
gariepinus in river Yamuna can be
categorised as

(1) Over exploitation

(2) Alien species invasion

(3) Co-extinction

(4) Habitat fragmentation
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(a)

(b)

©

(d)

F1_

Frferfea do @ w6 du % w@r fam w0 8k

Sfaa faswed &1 999 MR :

() g (i) reret

(b) wraferar (i) worfwdw

(c) FRmerr (i) wHEAEH

(d) =R (iv) faeieter

(1)  (@-@), (b)-(iii), (c)-(iv), (d)-(ii)

(2) (a)-(iid), (b)-(iv), (©)-(ib), (d)-(1)

(3) @-(@v), (b)-(3), (c)-(iii), (d)-(ii)

@) (a)-(iiD), (b)-(iv), (c)-(1), (d)-(ii)

e & i @ wrolt fymed ey a@ oof wEa

g7

(1) wrfwed

(2) AfereT

(3) == RIS

(4) Tt

TH Jhfal Feil § Sgell @ TeuN & fag g

ol sifvmeet & T & @5 § -

(1) sswe (2) wHIEX

(3) = 4) wuee

= iy SoEmel B S %&T%@%s

Ty B #T Siua fawe & 999 :

e Hfa D @%amﬁ ]
g Tgw e T

g1

e w iy (i) o= HidwEwTSI A
WEA & &
I, Howd §

S d@f (iit)~Sushen wifdrenratt F
w4l ¥ fa &
e F T
HIUY TR E

e i (iv) H@H SRt &
g BIEeE
AT @ 9 §uR
i BTl ¢ |

(1) (@), (b)-(1), ()-(v), (d)-(ii)
2)  (@-(v), (b)-(id), (c)-D, (d)-(iD)
() @-(@), (b)-(iv), ()-(D), (d)-(iii)
(@) @-v), (b)-(i), (-, (d)-(iii)
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(a)

(b)

©

(d

Match the following genera with their
respective phylum :
(a) Ophiura
(b) Physalia

(i) Mollusca

(ii) Platyhelminthes
(c¢) Pinctada (iii) Echinodermata
(d) Planaria (iv) Coelenterata
Select the correct option :

1) @-G0), (b)-(ii), (©)-Av), (d)-(i)

@) ()id), (b)-(iv), (©)-(iD), ([d)-()

B) @-Giv), (0)-G), (©)-Gid), (d)-(ii)

4) (@-id), (b)-(v), (c)-(1), (d-(11)

Which of the following animals are true
coelomates with bilateral symmetry ?

(1) Platyhelminthes

(2) Annelids

(3) Adult Echinoderms

(4) Aschelminthes

The contrasting characteristics generally in a
pair used for idéntification of animals in
Taxonomic Key are referred to as :

(1) Doublet (2) Alternate

(3) Lead (4) Couplet

Match the following cell structure with its
characteristic feature :

Tight junctions (i) Cement
neighbouring
cells together to
form sheet

Adhering (ii)) Transmit

junctions information

through chemical
to another cells
Establish a
barrier to prevent
leakage of fluid
across epithelial
cells
Cytoplasmic
channels to
facilitate
communication
between adjacent
cells

(iii)

Gap junctions

Synaptic (iv)

junctions

Select correct option from the following :
(1) (@)-Gid), (b)-(i), (©)-(iv), (d)-(ii)
@) @-Giv), (b)-Giid), (©-) (@i
@) (@), B)-Gv), (©)-(i), (d)-(iii)
@) (@)-(iv), (b)-(i), (©)-(1), (d)-(iii)
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F1_

e & o9 o wuw sE ® 7

(1) e T YHIEF AT (e % 86 @S
¥ Suitea iR ¥ |

a1 fueaee & ydE oS # 9WE
SiETgE® B ¥ |

foeraee o divie gite Bt & fvwenl ganfean
T UY g awar i Bkl ¥
Ba% w4l Y Y fidoed ¥ B3 wd uas
©s ¥ Sufterd gy ¥ |

@)
€)
4

Teh G HIRTRT H Y BB Srehas e
Fea ¥ ?

(1) ol e

(2) wTETHE

(3) LR

(4) TiesaRARg

Faa o suRua i wadwsal §XamTd fohas
afthy dywuer &l e &7

(1) rRNA (2) tRNA

(3) WM @  (4) mRNA

waﬂawm@smaﬁm

Pt & & B Y Y ol guRad A § 7

() fx '%DNAG&W%W&!?H’?{

) ﬁ%%atmﬁDNAﬁ%@Wu\ﬁ?%
S

(3) % wWgH @ DNA &l WM % & 9

B 8,
(4) Ta. s @ ga T DNA |

ST Tore—1 % qyaTq ST HakT BTt

i

(1) T g @ o § SLUA.C. @l A
TET BA & |

e g & gaT o SLUA.T. @l A

=R IET BT T

SLUA.T. @ AT T BIHT Dl S ST

% SYET B §

STIRTA gwies & gaT A SLUA.G. Bl G0

T A 7
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Which of the following statements is
INCORRECT ?

(1) A pair of spermatheca is present in the
6% segment of female cockroach.
Female cockroach possesses sixteen
ovarioles in the ovaries.

Cockroaches exhibit mosaic vision with
less sensitivity and more resolution.
A mushroom-shaped gland is present in
the 6th-7th abdominal segments of male
cockroach.

2
3)
)

Which of the following cell organelles is
present in, the, highest number in secretory
cells 2

(1) " Endoplasmic reticulum

(2) <Lysosomes

(3) Mitochondria

(4) Golgi complex

Non-membranous nucleoplasmic structures in
nucleus are the site for active synthesis of
(1) RNA (2) tRNA.
(3) protein synthesis (4) mRNA

Which of the following nucleic acids is

present in an organism having 70 S ribosomes

only ?

(1) Double stranded DNA enclosed in
nuclear membrane

(2) Double stranded circular DNA with
histone proteins

(3) Single stranded DNA with protein coat

(4) Double stranded circular naked DNA

After meiosis I, the resultant daughter cells
have

(1
@)
©))
(4)

same amount of DNA in comparison to
haploid gamete.

four times the amount of DNA in
comparison to haploid gamete.

same amount of DNA as in the parent
cell in S phase.

twice the amount of DNA in comparison
to haploid gamete.
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F1_

fedarmaa g & ?

(1) IUDs it # ypervjett & waor ¥ ghg
H €

TUDs grwessii= &l U <ol & |

IUDs & T&% ¥ SEW & S1§ FioeasT
FH B AEITBAT T BT |

IUDs 9Mraa: SYanhdl R @ & sl
ST 2

)
3)

)

e A B9 99 i O fasiva: = e
B yIfag & B 7

(1) AIDS ©d ggasmg—sr

(2) waffEgar Td AIDS

(3) «fs v wd agasia—a

(4) Fuftehra wet st afad

qSE % T HH B TIT BT |
(1) Fgwwes — RF — goe wmE
— TS — BivE e (FewE) —
iR faier — o gie
THETTT — THG WA — R
— gHA — HifdEn EdwTr — B
e (Rreem) — ofT gRe Q
UGS — HE WHEL s<xﬁQrﬁtﬁ
ewaaﬁﬁmﬁﬂw@w)—e
e ik — o P
HESTE — T — (Ri
— HA — DI (foreem) —
3T gRe — wifdrer faademTn

€))

€)

4

ot & e s grema gied ¢ T S@T
whreet <9 &% g Saterr €7

(1) SRS ) fefmEs

) w=ERw (4) wefrs

aIcte aeh o dra wrareer X ST qeah! b Ry e
BT i —

(1) i wreren % LH &1 X 3tiies &ien & |
(2) 9 vt & FSH & LH 391 &1 @< @A
BT ¥ |

St & 9% I sl ¥ e wd ¥ |
g wraen & FSH &1 ®@{ st i & |

3)
C)
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Which of the following is a correct

statement ?

(1) IUDs increase phagocytosis of sperms
in the uterus.

(2) IUDs suppress gametogenesis.

(3) IUDs once inserted need not be
replaced.

(4) TUDs are generally inserted by the user

herself.

Which of the following sexually transmitted
diseases do not specifically affect
reproductive organs ?

(1) AIDS and Hepatitis B

(2) Chlamydiasis and AIDS

(3) Genital warts and Hepatitis-B

(4) Syphilis and Genital-herpes

Select the correct sequence of events.

(1) Gametogenesis = Syngamy —
Gamete transfer — Zygote — Cell
division™, (Cleavage) — Cell
differentiation — Organogenesis.
Gametogenesis — Gamete transfer —
Syngamy — Zygote — Cell
differentiation — Cell division
(Cleavage) — Organogenesis.
Gametogenesis — Gamete transfer —
Syngamy — Zygote — Cell division
(Cleavage) — Cell differentiation —
Organogenesis.

Gametogenesis — Gamete transfer —
Syngamy — Zygote — Cell division
(Cleavage) — Organogenesis — Cell
differentiation.

2
)

“4)

Which of the following hormones is
responsible for both the milk ejection reflex
and the foetal ejection reflex ?

(1) Oxytocin (2) Relaxin

(3) Estrogen (4) Prolactin

No new follicles develop in the luteal phase

of the menstrual cycle because :

(1) LH levels are high in the luteal phase.

(2) Both FSH and LH levels are low in the
luteal phase.

(3) Follicles do not remain in the ovary after
ovulation.

(4) FSH levels are high in the luteal phase.
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124 smefern ® fgam oe s & T # @8

ffbreeand gew ¥ |
39 @ % few @ wed
(1) =wE fae™
(2) sfErt faem
(3) argge fafhTa
(4) sy foem

125 w9 - [ & Ru ™ sagal &1 9 — I & sragat
F gy fem st ok sfud fuesr & T
BT |
wH -1 w - 11

(a) XX-XO feim (i) =it figm
Frafor franfatr

(b) XX-XY e (i) wmEr fqwAgTESD
Frator fReafety

(c) FEEET-45 (iii) feser

(d) ZW-ZZ fw (iv) AR gHgHE
Frafor Reanfeaty

(1) (@)(iid), (b)-(iv), (c)-(1), (d)-(ii)
(2) (@-@v). (b)-(ii), (c)-(D), (d)-(iii)
() @-(i), (b)-(iv), (©)-(1), (d)-(iii)
) @-@, (b)- (IV) (0)-(it), (d)<(u1i)

126 ﬁWDNA%@%XL@WﬁHmRNA?ﬂWW
CANCA S|

3' ATGCAT GCATG 5

5' TACGTAGGTACGTAC 3'  =iféw 10y
(1) 3' UACGUACGUACGUAC 5'
(2) 5' AUGEAUGCAUGCAUG 3'

(3) 3" AUGCAUGCAUGCAUG %'
(4).5" UACGUACGUACGUAC 3'

127 = RNA Uil &l $9& o Saal &
qry A A R g fyeer w1 T aifg

RNA qis [ (i) tRNA
RNA et I (i) rRNA
RNA uidmyst I11 (iii) hnRNA

Fre % & ofm fer IR
(1) (@), (b)-(iii), (c)-(i)
@ (@), (b)-(ii), (c)-(i)
(3) (@), (b)-(iii), (o)-(i)
@ (@)-G). (b)-(ii), (o))

_ Hindi+English ]

(a)
(b)
(c)

F1

Download all NOTES and PAPERS

124 In Australia, marsupials and placental
mammals have evolved to share many similar
characteristics. This type of evolution may
be referred to as -

(1) Cyclical Evolution
(2) Convergent Evolution
(3) Adaptive Radiation
(4) Divergent Evolution

125 Match the items of Column - I with

Column - II :
Column - I Column - II

(a) XX-XO method (i) Turner's
of Sex syndrome
Determination

(b) XX-XY method (i) Female
of Sex heterogametic
Determination

(c) Karyotype-45 (iii) Grasshopper

(d). ZW-ZZ method (iv) Female
of Sex homogametic
Determination
Select the correct option from the following :
(1) (a)(iii), (b)-(iv), (¢)-G), (d)-(ii)
2 (@)-(iv), (b)-(ii), (¢)-(1), (d)~(iii)
() (@-(iD), (b)-(iv), (e)-(1), (d)(ii1)
4 (@-D, (b)-(v), (c)-(ii), (d)-(iii)

126 What will be the sequence of mRNA

produced by the following stretch of DNA 7

3' ATGCATGCATGCATG 5' TEMPLATE STRAND
5'TACGTACGTACGTAC 3' CODING STRAND

(1) 3' UACGUACGUACGUAC 5'
(2) 5' AUGCAUGCAUGCAUG 3
(3) 3' AUGCAUGCAUGCAUG 5'
(4) 5" UACGUACGUACGUAC 3

127 Match the following RNA polymerases with
their transcribed products :

(a) RNA polymerase 1 (1) tRNA
(b) RNA polymerase 11 (i) rRNA
(¢) RNA polymerase III (iii) hnRNA

Select the correct option from the following :
(1) (@-@D), (b)-(iii), (c)-(i)
(2) (@)-(ii), (b)-(ii), (c)-(1)
(3)  (@-(), (b)-(iii), (c)-(ii)
@ @-), (b)-(i), (0)-(i1)
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d

129

(a)
(b
©
@

130
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T T YHE % W B ST BE o AN B
IR fore @1 Tu |

T 19T @l (i) aw waul @&
L ST NSRRI
gHge derfd (i) Haw T BT
RIED KERERICE
T 1T B (iii) wifsaw smaw &
ARIET gsT SEECTRE DG
ST
T gaitea Afwar  (iv) ed, S@ O
HIETE qreehl Bl
EYKERI

(1) @-@), (b)-(iv), (c)-(ii), (d)-(iii)
) @-v), (b)-(i), (c)-(iii), (d)-(iD)
(3)  (a)-(i), (b)-(iii), (c)-(i), (d)-(iv)
(4) @-@i), (b)-(iv), (9)-(1), (d)-(iii)

wy — 1% fu v srawat &1 w9 — 11 & srEgat
% Ty o S ot shua faeer &1 o9w
HINY |
w9 -1
RIS ECA
MR

EELd
KR GECC L

wy - II QK\Q
() o et
(if)
(iii) o
(iv) Treica Reea

(D (@), (b)-(iid), (€)-Gid), (d)-(1)
@) @-Gv), (b)-(id), (c)-(iii), (d)-(1)
(3)  (@)(iii), (b)-(iv), ()-(ii), (d)-(1)
(4)  (@-(id), (b)-(i), (c)-(iv), (d)-()

e & S Tl fada: eTR % H@gaT s9g
TN Td 99w ger ¥ e satert € 7

(1) eifioe Rt od g

(2) forrer dyafa wa degan

(3) e el wd sty

4) T wfyEed T vl o @izl
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128 Match the following parts of a nephron with

(a)
(b)
©

(@

129

(a)
(b)

(©
(D

130

their function :

Descending limb (i) Reabsorption of
of Henle's loop salts only
Proximal (i) Reabsorption of
convoluted tubule water only
Ascending limb (iii) Conditional
of Henle's loop reabsorption of
sodium ions
and water
Distal convoluted (iv) Reabsorption of

ions, water and
organic ‘nutrients

tubule

Select the correct option from the following :
1) @-0), (b)-(v), (©-G1), (d)-(ii1)
(2) @-(1v), (b)), (c)-(1ii), (d)-(i1)
(3) @-@), (b)), (c)~(i1), (d)-(v)
(4 (@) (b)«(1v), (c)-(D), (d)-(iii)

Match the items in Column - I with those
in Column - II :

Column - I Column - II
Podocytes (i) Crystallised
oxalates
Protonephridia (ii) Annelids
Nephridia (iii) Amphioxus

Renal calculi (iv) Filtration slits

Select the correct option from the following :
(1)  (@-(v), (b)-(iii), (c)-(i1), (d)-(1)
(2) (a)-(iv), (b)-Gi), (c)-(iii), (d)~(i)
(3) @-(i), (b)-(iv), (0)-(ii), (d)-(1)
@) (@)-(ii), (b)-(id), (c)-(v), (d)-({)

Which of the following receptors are
specifically responsible for maintenance of
balance of body and posture ?

(1) Tectorial membrane and macula

(2) Crista ampullaris and macula

(3) Basilar membrane and otoliths

(4) Hair cells and organ of corti
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fmdarmam e W ¢ ¢

(1) 9 Sga Saedle B § ol R @
Do A ST & MU SOERy € ¥
Aot frwaem & AiEaslt &1 S e §
3R T Wgae wlear |

dfeee & REar fawa G € S gea
e e e e fopeedl B & g
L

BT B T Hewrel & fagdemer @
AFBal s MR SIRA A9d ga T
g

e it} &t S atfedy & Ty e sivg

& sfaa faemes &1 oo ST |

fergdf dfy (i) oS ¥ wd Td
AT & HeA

(i) weww wd iR
% A

(iii) ®wE & 7

(iv) g ok et
& HEg

(1) @-Gv), (-G, @), @)
@ (@-G), B)-GiRE)-(D, @-(1¥)
3) @), GXEY), O (D)
@ (- (n%@ i), (C)e(i)..(d)-(i)

ﬁwﬂrﬁ%ﬁﬂwﬁrmﬁm%?

@
€)

“)

HeT "y

g df
ECII|

(1) g (@) e

(3) %@)ﬁm M (4) wiay

Hi, enst, forga @t @ we fis wwa A
T forgan, fparefierer Tt ey & °

() sftges 1f

(2) uya Iy AR

(3) emgmy Aty

(4) b vt

Fe o @ e RreETEs 9 @ duemiiss

TN % Hew % fog SEif son ?
(1) afRg § Ca?t wr § a4
(2) T ¥ Ca?" wt & atfaan
(3) ufpw fqerfm D & @t & &
(4) T H Ca?t @ § %
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(a)

(b)
©
(d)

133

134

135

Which of the following statements is not
correct ?
(1) Rods are very sensitive and contribute
to daylight vision.
(2) In the knee-jerk reflex, stimulus is the
stretching of muscle and response is its
contraction.
An action potential in an axon does not
move backward because the segment
behind is in a refractory phase.
Depolarisation of hair cells of cochlea
results in the opening of the
mechanically gated potassium-ion
channels.

3

“

Match the following joints with the bones
involved. :

Between carpal
and metacarpal
of thumb
Between Atlas
and Axis
Between the
Carpals

Between Humerus
and Ulna

Select the correct option from the following :
(1) (@)-Gv), (b(-Gi), (©)-(iid), (d)-()
@ (@-G), (b)), (¢)-(ii), (d)-Giv)
3) (@), (b)), (©)-(i), (d)-(i)
(4)  (@-Gv), (b)-(), (c)-(ii), (d)-(iii)

Which of the following diseases is an auto-
immune disorder ?
(2) Gout

(1) Osteoporosis

(3) Myasthenia gravis (4) Arthritis
Artificial light, extended work-time and
reduced sleep-time disrupt the activity of -
(1) Adrenal gland

(2) Posterior pituitary gland

(3) Thymus gland

(4) Pineal gland

Which of the following conditions will
stimulate parathyroid gland to release
parathyroid hormone ?

(1) Fall in bone Ca'? levels

(2) Rise in blood Ca*? levels

(3) Fall in active Vitamin D levels

(4) Fall in blood Ca*?2 levels

Gliding joint (i)

(ii)
(iii)
(iv)

Hinge joint
Pivot joint

Saddle joint
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wrdfew T E, H-doREl ¥ g R e ® 7

(1) TTeT THUEA o TEART Sl il
¥l

(2) ¥ wga & Uugw s afukeane ¥ 0
Tewd & &9 H B B ol

(3) = ST ramsliear & R arg sl @
I CRDET I I

(4) 3 (reafes wE), TITSTEAl & HEHL 99
R

i faferrr it e @ o e A ofiT i
eyl % 9 BT § P
(1) qaferen 1t graug seer § osi o
& erdafy e & 9
wataen | % weds sreEen H Remia goest
¥ sredfy sEhvREl & 99
wartaeen 1 % grE ST A faerg qoRgs
% ordafy SRl & 99
qaraeT [ &f TWEug STawen # s oA
& reafd ARG & S

N

T e’ feaeet T @ ghe @ femg
IqFrT T S ¥ 7 sz).

(1) zERmhaafeg (2) T,

3) emTAT, @S

frefafa & ¥ ®Far el § et % qfeg
AT BT TH AH T T

(1) foreelt g0 80 & |

(2) T B SEIH Al § |

(3) wiwer yavir % frew ar § |

4) =g Wwa

)
&)

“

frafafaa & & FF—a1 FHa] g1 & LS W
AEEH & SUaaT BT 8 7

(1) Rradfyaa (2) TR
(3) TEEETET (4) TEIHHET
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Prosthetic groups differ from co-enzymes in
that -

(1) their association with apoenzymes is
transient.

they can serve as co-factors in a number
of enzyme - catalyzed reactions.

they require metal ions for their activity.
they (prosthetic groups) are tightly
bound to apoenzymes.

@

3
%)

Crossing over takes place between which

chromatids and in which stage of the cell

cycle ?

(1) Non-sister chromatids ‘of hemologous
chromosomes at Zygotene stage of

prophase L

(2) Non-sister chromatids of non-
homologous chromosomes at Pachytene
stage“of prophase 1.

(3) Non-sister chromatids of non-
homelogous chromosomes at Zygotene
stage of prophase L

(4). Non-sister chromatids of homologous

chromosomes at Pachytene stage of
prophase 1.

“Ramachandran plot” is used to confirm the
structure of

(1) Triacylglycerides (2) DNA

(3) RNA (4) Proteins

Which of the following is not a featurc of
active transport of solutes in plants ?

(1) Occurs through membranes

(2) Requires ATP

(3) Occurs against concentration gradient
(4) Non-selective

Which of the following bacteria reduce nitrate
in soil into nitrogen ?

(1) Thiobacillus (2) Nitrosomonas

(3) Nitrobacter  (4) Nitrococcus
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I TN T YIS @l 1491 1 8111 A Tep I_q
BT B T STTITGN §9 A T AT E P
(1) T T S&E BIYHT & /T Bl ST BT
(2) @ % gera feddl W fRaw # & svw |
(3) W& & 98 I famey § m |

(4) & BT IETT BB T TTET BT AT T |

RS ¥ e 3edeN oiwme o= (3.8.19.)
FE Ryg T & ?

(1) wgRiiisan &I oiaie R o

(2) it e wm a

(3) wWiESIBIEd & e ¥

(4) wrzdrmizar B Ty e §

T ot W e ¥ yrafis CO, Il # & ?
(1) rEhET aEeae

(2) wf§@r (Rubisco)

3) siemies e

(4) wremfaiis ord

TR % ST H a4 & ST @ s s S 5d
Syanll gaie & 1 gg m e ¥ ?

(1) ST &1 I91F &7 fEan Fang &g ared
| SRRl Bl e |

P 3 R

AT B BTy 3R stfeg wY

(2) fEE=

3)
ame@
(4)&@#@?%@%%%6%%

% SO qwieideet & teae o FasinRT
1 G, o ofie waet @1 i @ gt fugifea
B GaLA qT BT | S geEd: fed oft weh
WU W ?

(1) TG it did yare @ oK

(2) & R Ay B AR

(3) T &R T weATAT B AR

(4) <rger A GRM) &R T T @ e

T B B B IgER goM $ e Featalea &
¥ aF ¥ gfe Tsa @ feee s Ty ?
(1) e (2) wEHEAN

(3) e (4) -
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What will be the direction of flow of water
when a plant cell is placed in a hypotonic
solution ?

(1) Water will flow into the cell.

(2) No flow of water in any direction.

(3) Water will flow in both directions.

(4) Water will flow out of the cell.

Where is the respiratory electron transport
system (ETS) located in plants ?

(1) Inner mitochondrial membrane

(2) Intermembrane space

(3) Mitochondrial matrix

(4) Outegamitochondrial membrane

143 *In Hateh'and Slack pathway, the primary CO,

144

145

146

acceptor is -

(1) ¢Phosphoenol pyruvate
(2)” Rubisco

(3) Oxaloacetic acid

(4) Phosphoglyceric acid

Removal of shoot tips is a very useful

technique to boost the production of tea-

leaves. This is because :

(1) Effect of auxins is removed and growth
of lateral buds is enhanced.

(2) Gibberellins delay senescence of leaves.

(3) Gibberellins prevent bolting and are
inactivated.

(4) Auxins prevent leaf drop at early stages.

One scientist cultured Cladophora in a
suspension of Azotobacter and illuminated
the culture by splitting light through a prism.
He observed that bacteria accumulated mainly
in the region of :

(1) Orange and yellow light

(2) Blue and red light

(3) Violet and green light

(4) Indigo and green light

In order to increase the yield of sugarcane
crop, which of the following plant growth
regulators should be sprayed ?

(1) Gibberellins (2) Cytokinins

(3) Ethylene (4) Auxins
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ST SHEBIIT BT SHRT B 5T SLUAT. &
Guel &l gud HE H R F 9 9 wew 3
™ E T ¥ T wOR & geg |

(@) SLTA.N. FHOTHS SMAY I AU ¢ FHWY
W ST W TS R A IO W ® |
SLUA.U. & GUS S| B e b GHMNN
Tod €, 5@ & giEar SLuY & T @
g & B |

.G & IS & Y e Bier g
39 BT 39% T B U Sa 8§ @
B

9E TG, B A, AT F S BT
R & @ o7 GHAr ¥

Frfafga fompeal § @ @@ 3¢ gg -

(1) (b), (c) 3R (d)

2) (a), (b) AR (d)

(3) (a), (©) 3R ()

4 (a), (b) 3T (c)

g% A9 G5 & W LN F erfm RRi
¥ el & Safd T ger & ¥ 7
(1) wwgfeTs  (2) wifuw

(3) SLuAu W (4) UENREe
AT ATE. (RNAD#‘%HEHWW@
B T (EERE) T Rar wiar & ? (\\Q
(1) ss- RNA @) ds-DNQ§
(3) ds-RNA (4 ss-Da@
AT AT (gas) T » [EDRSINE
¥ @

(1) us R 6w ¥ IR BT & Y 06
YT JFEX BT T BT 00
UGB % fAT TRISFEA GSIEY @l SuarT
B FY TH S G TH S bl R
' & fog
IREaraRal B g9 B N gEEal B
& forg, frad o wufala @ greitaa fmar
ST 9%

TH S WG N Uk 3ieed @@ & Y e
B TEgN & & g

afyeet =l § ureul ofX Sge @ 9gd W UEl
wifera] € S wEl o WY q¢ w1 Uiy s §)
TS STiral @0 9 B8l o & ¢

(1) daeug 2) @EA

(3) wnfve (4) gl
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Given below are four statements pertaining
to separation of DNA fragments using Gel
electrophoresis. Identify the incorrect
statements,

(a) DNA is negatively charged molecule
and so it is loaded on gel towards the
Anode terminal.

DNA fragments travel along the surface
of the gel whose concentration does not
affect movement of DNA.

Smaller the size of DNA fragment,
larger is the distance it travels through
it.

Pure DNA can be visualized directly by
exposing to UV radiation.

Choose correct answer from.the options given
below :

(1) (b), (c) and (d)

(2) (a), (b) and (d)

(3) (@), (c) and (d)

4 (@), (b)and ()

(b)
©

(d)

An énzyme, catalysing the removal of
nucleotides from ends of DNA is:
(1y~Exonuclease (2) Protease

(3) \.DNA ligase (4) Endonuclease

In RNAI, the genes are silenced using :
(1) ss - RNA (2) ds - DNA
(3) ds - RNA (4) ss-DNA

A selectable marker is used to :

(1) select a suitable vector
transformation in a specific crop

(2) mark a gene on a chromosome for

3)

for

isolation using restriction enzyme
help in eliminating the non-
transformants, so that the transformants
can be regenerated

identify the gene for a desired trait in
an alien organism

(4)

Western Ghats have a large number of plant
and animal species that are not found
anywhere else. Which of the following terms
will you use to notify such species ?

(1) Threatened (2) Keystone

(3) Endemic (4) Vulnerable
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3+ &% faw & frafafag & @ a9 waw
EE

(1) &rwisdE e ‘ersl & |

(2) wEaHSEE A, g9 fafwt @ s
& B E

AvsaE oiee, g fafeon & sl
T B T |
ARSI o @ & |

3
@
i wexg & a9 SME & [T ST,

AR 3T ST &Y T Rafyerar & emwor %
1 HEl SR ¢ 7

(1) Sreeqed
(2) FN—-sFEATY
(3) TEEEE
(4) Sasfiar
wReE FS & e & g Frafataa, &8
HFUT Th FqYadT qebih & 7
(1) vuid=e Q
Q
@) ¥gu
(3) e FrgufRaia & &

4) 3& % 500 HRY TEY WF 9 I9FT
B

freafaRaa gl & ffe 1@ g § 9% wewitT &1
SER LT Al agia ?

(1) =9 TIHE ot e s

(2) ®&T qaE Y SR @ S

(3) qiifes ot ¥ g8 v T 9% Swar
(4) UYS & T A TR ST A §C Y

aft U Bq B TR w9 T TG e A Riws
% o oY Frefaiaa § ¥ B9 SieaE S #
quET Y ?

(1) orwaan (2) w9
(3) ug-Rmmmar  (4) a@a
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Which of the following statements about
ozone is correct ?

O
@

Tropospheric ozone is ‘good’.
Stratospheric ozone protects us from UV
radiations.

Tropospheric ozone protects us from
UV radiations.

€)

Stratospheric ozone is ‘bad’.

4)

Exploration of molecular, genetic and species
level diversity for novel products of economic
importance 1S\known as :

O
2)
3)
(4

Bioremediation
Bioprospecting
Biopiracy
Bioenergetics

Which of the following is an innovative
remedy for plastic waste ?

(1) Polyblend

(2) Electrostatic precipitator
3)
(4)

Burning in the absence of oxygen

Burrying 500 m deep below soil surface

Between which among the following, the
relationship is not an example of
commensalism ?

(D
ey
©)
“)

Sea Anemone and Clown fish

Female wasp and fig species

Orchid and the tree on which it grows
Cattle Egret and grazing cattle

If an agricultural field is liberally irrigated
for a prolonged period of time, it is likely to
face a problem of :

(1) Acidity (2) Salinity
(3) Metal toxicity (4) Alkalinity
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(a)
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(d)

F1

freafafega & € @t9-w1 waw ICBN
(FREd ) e & Reg & ?

(1) &=nive T & dfest § forar smar & ofiX
7= e e i |

9T A ST ST T BT B SAET § S
HY Torar sn =iy |

T ¥ @ denfie M @ Taifea fean
T 91T |

e ST %7 Teb €97 - & U Ta Wi
Yhd UT BT ¥ |

@)
€)

4

et ¥ ure TE A (7 & ) 9w e
¥ grar & fred

(1) W Hag d gaq AT [T $ |
(2) TN wam Wed Jo TR B § |
(3) orfpa Treely raeT &)l ¥

(4) o g E W B & |

frafefeq & ¥ ®F-91 ®UT WA ¥ ?
(1) IgHT @B Bah GITSH JGTAT HEATT
) W,W%mwﬂﬁ%s{\Q
(3) mﬁﬁaaaﬁaﬁw%rgg

4 Wﬁmmﬁ@aﬁﬁm%l

WI%W@WH%W%W&

gafwa @Aifsg |

Fiem I it 1T

TeIfeed Q) A

DB R S (i) wg e
P (iii) sfrz agel & st
LIESIECRAIEE (iv) waol &=

i R T Pl ¥ @ W s R

(1) (@D, (b)-(iv), (e)-(i), (d)-())
2y @-(iD), (b)-(iv), (o)-(ii), (d)-()
B3)  (@-@v), (b)-(D), (c)-(iid), (d)-(ii)
(4) (@D, (b)), (0)-(i1), (d)-{v)
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(b)
©
(@)

Which of the following is against the rules

of ICBN ?

(1) Scientific names are in Latin and should
be italized.

(2) Generic and specific names should be

written starting with small letters.

Hand written scientific names should

be underlined.

Every species should have a generic

name and a specific epithet.

3)
(4)

Mad cow disease in cattle is caused by an
organism which has :

(1) free RNA without protéin coat

(2) free DNA without protein coat

(3) inert crystalline structure

(4) abnormally folded.protein

Which of the following statements is correct ?
(1) Fungal component of lichens is called
phyeobiont.

Lichens are not good pollution
indicators.

Lichens do not grow in polluted areas.
Algal component of lichens is called
mycobiont.

2)
€)
4)

Match the organisms in column I with
habitats in column II.

Column I Column II
Halophiles (i) Hot springs
Thermoacidophiles  (ii) Aquatic
environment
Methanogens (iii) Guts of
ruminants
Cyanobacteria (iv) Salty areas

Select the correct answer from the options
given below :

(1) @-GiD, (b)-{v), (©)-(b), (D-O)

(2) (@-Gi), (b)-(v), (c)-(iid), (d)-(1)

(3) @-(v), (b)), (c)-(iii), (d)-(ii)

@) @-@), (b)-(), (¢)-(iii), (d)-(iv)
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ot o5 & & daes Siteaw @ safa wal 4

B ¥ 7

(1) orEEel R IRT9 & 99 & Jgas
CRINCAC

(2) ST ST SIAUYRIT & | T T A

(3) wu d=A % A9 Rua sae iR NewmEew
% S R uftew 3a% & ue WFT @

4) TFgeaTw

frrafofea & o fead Tt aof = g
S E 7
(1) gee=ifrar
() ww

(2) @rgiiE
4) =T A

T % BT AU T TSI had eIl & ?
(1) cimdsh afew (2) fadws Afew
(3) undw afewm  (4) e At

for® @i 70 T A fEeed steeE fhed
k7

(1) ddm S{\Q&) e

3) s 4

3) &Q @, T

WI@%H%WJH@!WW I

ﬁa@ *iem 11

el IYH T (1) YR @ gywu

NREEALS (i) = i SR
TeEt Bl T

(iii) eEBMREN 3
TEHIANS Bl
fommfor

(iv) gt &1 uraw

KGR

A

9 R T Rt & ¥ gifre w8 v gRN
(1) @<G), (b)-(i), (©)-(iv), (d-Gi)
@ @-G), (0)-(i), (¢)-(iv), (d)-(ii)
3) (@i, (b)-(v), (©)-(id), (d)-()
@) (@-v), (b)-(iid), (©)-D), (d)-(i)
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(©

(@

In the dicot root the vascular cambium

originates from :

(1) Parenchyma between endodermis and
pericycle

(2) Intrafascicular and interfascicular tissue
in a ring

(3) Tissue located below the phloem

bundles and a portion of pericycle tissue

above protoxylem.

(4) Cortical region

Which of the following shows whorled

phyllotaxy ?

(1) Alistonia

(3) Mustard

(2) Calotropis
(4) China rose

Regeneration of damaged growing grass
following grazing is largely due to :

(1) Intercalary meristem

(2) Secondary meristem

(3) Lateral meristem

(4) Apical meristem

Bicarpellary ovary with obliquely placed

septum is seen in :
(2) Sesbania

(1) Solanum
(3) Brassica (4) Aloe

Match the column I with column IL
Column I Column 1T
Golgi apparatus (i) Synthesis of

protein

(ii)) Trap waste and

excretory
products
Formation of
glycoproteins
and
glycolipids
Digesting
biomolecules

Lysosomes

(iif)

Vacuoles

(iv)

Ribosomes

Choose the right match from options given
below :

(1) @-Gii), (b)-Gi), ©-iv), ()

(2) (a)-(1), (b)-(it), (e)-(iv), (d)~(ii1)

() (a)-Gid), (B)-(iv), (c)-(in), (d)-()

4  (@-(v), (b)-Gid), (c)-(), (d)-(i)
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BT BT G BT ST, g o Ftor, F
3 F,, urey &1 Trfraa & @ fnen 3uarT &t
TS O GHaAT & 7

(1) g &=E (=)

(2) I U™

(3) g sEEW

4) u= frofe faw

Fraeem & foe & Frefafaa o @ dF—w1 &
TR ?

(1) o Irgetdr e & ST wg egarst O T
1 e we &

Y g g s w ¥

7% TENE SO BT A S9N fmm S
THAT &

¥ qgpall & ygH AL SfX I wergs A
I AR S

@
3)

“4)

T B el F i A, T o gftfe s
F vl vy feed o s e T R ?
(1) Saw gagw Q
(2) THT S TG S’(\Q
(3) SalEdT ye = Q§»
(4) SrayfesTT

Q

S
NSy

BIhT TehAISS AT DIk WA, BT & 7

(1) gReETT Bl

2y g

3) a7 =

(@) Tzrer darEir

g & Freilaea gl § 98 B8 g
e AT gesia Si9 sat@ & &9 § W fed
W gHS § 7

(1) wETRFEIRET SR AT

(2) TERmE iR gETEEar

(3) vaRfwg IR wEAvg

(4) TEET SR wEd
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The production of gametes by the parents,
the formation of zygotes, the F; and F, plants,
can be understood using

)
@
3)
4)

Punnet square
Wenn diagram

Pie diagram

A pyramid diagram

Which of the following statements about
methanogens is not correct ?

(1) They grow aerobically and breakdown

cellulose-rich food.
(2) They produce methane gas.
3)

“4)

These can be used to produce biogas.

They are found in the rumen of cattle
and their excreta:

In mung bean;, resistance to yellow mosaic,
virus, and, powdery mildew were brought
about by

(1)
)
()
@

Tissue culture
Hybridization and selection
Mutation breeding
Biofortification

Coca alkaloid or cocaine is obtained from :
(1)
(2)
(3)
4

Erythroxylum coca
Datura

Papaver somniferum
Atropha belladona

Among the following pairs of microbes,
which pair has both the microbes that can be
used as biofertilizers ?

(D
2)
3)
4

Cyanobacteria and Rhizobium
Aspergillus and Cyanobacteria
Aspergillus and Rhizopus
Rhizobium and Rhizopus
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dfereifar 5 %9 Y H IR0 BT 8 7
(1) To7 5T & |8 & HIT A & T TIETH
I & & I §K §

T Dl TAE UK T YT BT T B GTSA
S AT g9 & U | S S §)
wrer Ao Frr Reafy F sta & @ S ¥
TS S 1 A8 % HYT O © ST qXrTe
Bl SR BT §

@
€)
4)

fFrrfefaa o @ fred wgv ofit aemagedt g
T B W T T ?

(1) = (2) =R
(3) T (4) b
Sietie=a" & Tar (@iaw — 1) ol 37 Seen
(@ierw — I1) @ gafea Hifwg |

&t - 1 Fiem - IT
(a) omErd () wwEt
(b) wim (i) = U
(c) g (i) =ETEE
d) gwwdE (v) g
frfofaa ﬁﬁtﬁ@éﬁi’é STGT ¢

(D) (@-(v)@P), ()0, (d)-(iii)
@ (@-(gb)-(v); (€)1, (i)
3) ( &ﬁb)-ﬁii), (€)-(v), (d)-()
@) @D, (©)=(1), c)-(iii), (d)-(iv)

SgasTenal ¥ §d G YT BT qUIBIY B
wME?

(1) & _wires gaga foavem amn we-doms
(2) @ W T e A TS
(3) UH GG ST TS T agehieieIst
(4) A wirs TG e e TSRS

fratafes & @ omgdfies gz & @@ & @
GO @ qeai —

(1) wrhitfes, s, ssfad

(2) B, TN, FEEY

(3) wEwife, srifyy, TraReTd

(4) SETd, T, SERd
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What type of pollination takes place in
Vallisneria ?

(D
@

Flowers emerge above water surface,
and pollen is carried by wind.

Male flowers are carried by water
currents to female flowers at surface of
water.

Pollination occurs in submerged
condition by water.

Flowers emerge above surface of water,
and pollination occurs by insects.

(3)
@

In which one of the following, both autogamy
and geitonogamy are prevented ?

(1) Castor (2) Maize

(3) Wheat (4) Papaya

Match the, placental types (column - I) with
theiriexamples (column - II).

Column - I Column - I1
(a) Basal (i) Mustard
(b) Axile (ii) China rose

(¢c) Parietal
(d) Free central

Choose the correct answer from the following
options :

(1) (@-v), (b)), (©-0), (i)

@ (@-iid, O-(v), ©-0), [@-Gi)

3) (@), (b)), (V). (d)-()

@ @-(), (b)-(ii), (c)-(iid), (d)-(iv)

Which is the most common type of embryo
sac in angiosperms ?

(iii) Dianthus
(iv) Sunflower

(1) Monosporic with two sequential mitotic
divisions

(2) Bisporic with two sequential mitotic
divisions

(3) Tetrasporic with one mitotic stage of
divisions

(4) Monosporic with three sequential

mitotic divisions

From the following, identify the correct

combination of salient features of Genetic

Code -

(1) Universal, Ambiguous, Degenerate

(2) Degenerate, Non-overlapping, Non-
ambiguous

(3) Universal, Non-ambiguous,
Overlapping

(4) Degenerate, Overlapping, Commaless
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Ts frw dente 3 yeifes = & fag feen T
SIS § T A AGERH @Y ST
T ?

(1) = ofix 29

(2) v&Y AR qFS

(3) drsd &iX <fen

(4) dEwET T W

gHER § swET i i ¥ RNA (sR.uA.q.)

oIS — [ R STaRad ®tar § 7

(1) tTRNAs —288S,18S a3t 58S

(2) mRNA & qmE!, haRNA

(3) mRNA @ Fmw, afyfe dawm, BEe
iR 25

(4) tRNA, 5 stRNA 3t snRNAs

frafafes & & fre omafies Rufy & wwifea

e ol BIERT A T Fel T org XXY 8 € 7

(1) TR

(2) =g Rigm

(3) debmEr

(4) wFETheed RigH

AT % fue & fawg § Freafafeas & 9 #9-

T B G E 7

(1) & fsforg gvaa: A @@ & |

(2) Prdstaw wF 1,00,000 & 40,000 o
TRET A wd 9 |

(3) Py W 50,000 o9 wed Sy |

(@) zEfiRmET R Ty S aFE S 15
frferas ad vew foemm €, Q 999 @ T
Tad & |
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Which scientist experimentally proved that
DNA is the sole genetic material in
bacteriophage ?

(1) Hershey and Chase

(2) Jacob and Monod

(3) Beadle and Tautum

(4) Messelson and Stahl

In the process of transcription in Eukaryotes,

the RNA polymerase I transcribes —

(1) rRNAs —28S5, 18S and 5.8 S

(2) Precursor of mRNA, hnRNA

(3) mRNA with additional processing,
capping and tailing

(4) tRNA, 5 srRNA and snRNAs

In which genetiecondition, each cell in the
affected person, has three sex chromosomes
XXY ?

(1) Phenylketonuria

(2) Turner's Syndrome

(3). Thalassemia

(4) . Kleinfelter's Syndrome

What initiation and termination factors are
involved in transcription in Eukaryotes ?

(1)
@
3)
“

B and 7y, respectively
o and ¢, respectively
o and P, respectively

o and B, respectively

Which of the following statements is correct
about the origin and evolution of men ?
(1) Homo habilis probably ate meat.

(2) Neanderthal men lived in Asia between
1,00,000 and 40,000 years back.
Agriculture came around 50,000 years
back.

The Dryopithecus and Ramapithecus
primates existing 15 million years ago,
walked like men.

3)
4
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freafafaa [REsT aam & 98 ¢
T W 9K ud® gdanl, Frias & e wdv-u | 1

1.

T I
e e o Radt orgefy & R o wltened :
T WE T B I
FRITE Frives wt s s o R e o suRafi- | 3
T T G SKAE {6y o @i el alian sid |
T BT 1 AR R el A g SR T |
TR T R A1 98 wEn Sen R e s W @
A ¥ v 7@ dghm W & wwen g e |
THFzIG | sEEiivg dReus & Sudl it ¥ :
qdar—sie § amee & fog whendt, gden & Fawi o | 5
%ﬁuﬁmﬁqﬁa%lm—ﬁmmm%wmﬂ|
o S 3@ wlen & e o fafee & egEr |
B |

fepdlt o sraa & wden giaer ofit STX v @ A W | 6.

AN T B

uﬁmgﬂawlwwﬁ&qmﬁmgﬂawmu'

& wheel f ahd § eReRTTs ¥ Fd :

| Read carefully the following instructions :

Each candidate must show on demand his / her
Admit Card to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, would leave his / her
seat.

The candidates should not leave the Examination
Hall without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet
twice. Cases where a candidate has not signed
the Attendance Sheet the second time will be
deemed not to have handed over the Answer
Sheet and dealt with as an unfair means case.
Use of Electronic / Manual Calculator is prohibited.
The candidates are governed by all Rules and
Regutations of the examination with regard to their
conductin the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of this examination.

No part of the Test Booklet and Answer Sheet shall
be detached under any circumstances.

The candidates will write the correct Test Booklet
Code as given in the Test Booklet /Answer Sheet in
the Attendance Sheet.
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